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- An indifference curve shows combinations of two goods that :
(A) A consumer could buy with their given income.
(B) Could provide the consumer with similar levels of satisfaction.
(C) Would provide the consumer with the same level of satisfaction.

(D) Could be available to the consumer in a given time period.

. The rate at which a is able to substi one good for another is determined by
the
(A) Consumers income. (B) Indifference map.

(C) Ratio of the prices of the goods. (D) Marginal rate of substitution.

. Indian economy is :

(A) Socialistic. (B) Mixed.

(C) Gandhian. (D) Free economy.
. 'The most out: ding feature of capitalist ic system is

(A) Unemployment. (B) Poverty.

(C) Inequality of income. (D) Industrial backwardness.
. Law of equi-marginal utility was suggested by :

(A) Marshal. (B) Robins.

(C) HH Ghosen. (D) None of these.

. Indifference curve analysis is based on the principles of :
(A) Consumer surplus.
(B) Diminishing marginal utility.
(C) Diminishing marginal rate of substitution.
(D) None of these.
. The author of the wealth of nation is :
(A) Marshal. (B) Robins.
(C) Adam smith. (D) None of these.
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. If the price of DVRs fell and as a result the demand for VHS recorders fell we could conclude that

VHS recorders DVRs are :
(A) Normal goods. (B) Substitutes.
(C) Elastic goods. (D) Unrelated.

. Two goods that are used jointly to provide satisfaction are called :

(A) Inferior goods. (B) Normal goods.
(C) Complementary goods. (D) Substitute goods.

Ifthe income and substitution effect of a price increase works in the same direction the good whose
price has changed is a :

(A) Giffen goods. (B) Inferior goods.
(C) Normal goods. (D) Superior.
‘Which of the following is a short run law ?
(A) Law of diminishing returns. (B) LAw of constant returns to scale.

(C) Law increasing returns to scale. (D) None of these.

‘Which cost are recorded in books of accounts ?

(A) Opportunity cost. (B) Implicit cost.
(C) Social cost. (D) Explicit cost.
Firms in a oligopoly :

(A) Are independent of each other’s action.
(B) Can each influence the market price.

(C) Charge a price equal to marginal revenue.
(D) Al of these.

. What are “hawala transaction” ?

(A) Foreign trade in goods that are banned by the government.
(B) Transfer of money without actually moving it.
(C) Tlegal drug trade at the international level.

(D) Conversion of black money into white money.
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Employment of people who take jobs below their capacity is known as :

(A) Under employment. (B) Disguised unemployment.
(C) Cyclical unemployment. (D) None of these.
The unemployment caused by a decline in demand for production in a particular industry is :
(A) Seasonal unemployment. (B) Frictional unemployment.
(C) Structural unemployment. (D) None of these.
MNC:
(A) Always produce primary goods.  (B) Always produce manufactured goods.
(C) Always produce service. (D) May produce primary or factured goods.
The portfolio i by foreign institutional investor is :
(A) FDL (B) FIL
(C) BOP. (D) SDR.

‘Where do MNCs choose to set up production ?
(A) Cheap goods. (B) Cheap labour resources.
(C) Economic sustainability. (D) None of these.

For motors entered the Indian automobile business in collaboration with which Indian
manufacturer ?

(A) Mahindra and Mahindra. (B) Tatamotors.
(C) Marathi Suzuki. (D) Marathi Suzuki.
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Section A

Answer at least ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.

1. Distinguish M ol B ics from E

2. State the need for forward planning.

3. In which way Managerial Economics is related to Accounting ?
4. What do you mean by ‘ordinal utility approach’ ?

5. What do you mean by Giffen goods ?

6. What is substitution effect of a price change ?

7. What is profit maximisation in economics ?

8. How does a firm attain equilibrium under imperfect competition ?

©

. Why do oligopoly firms engage in price leadership ?

10. What is structural unemployment ?

11. What are the causes of black marketing ?

12. What is market economy ?

13. Why is foreign trade important ?

14. Who regulates foreign trade policy in India ?

15. What is MSME ?

(10 x 3 = 30 marks)
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Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 380.

What is intellectual property right ? State its purpose.
What is foreign trade policy and its objectives ?
Explain the role of Government in a market economy.
Write a note on Indian economy under WTO regime.

‘What is monopolistic competition and what are its features ?

What is the difference b ly and listi ition ?
Explain the fund 1 tools in ial ic for decision making.
What is law of diminishing marginal utility and explain its importance ?

(BGx6=

Section C

Answer any two questions.
Each question carries 10 marks.

Discuss the role and importance of managerial economist.
Explain the concept of elasticity of demand.

Discuss the structure and direction of India’s foreign trade.
Write a detailed note on the problems of Indian Economy.

(2x10=
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3. Each question is provided with choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and enter it in the main answer-book.
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provides all relevant information needed by the managers at different levels for taking
correct decisions. '

(A) MBO. (B) MIS.
(C) DBMS. (D) None.

is a workflow diagram to bring forth a clearer understanding of a process or series of
parallel processes.

(A) Fishbone diagram. (B) Interrelation graph.
(C) Tree diagram (D) Process mapping.
isa hil hy and hodols which was i d by Motorola.
(A) TQM. (B) TPM.
(C) 6- Sigma. (D) None.

needs are need for survival.

(A) Safety. (B) Esteem.
(C) Social. (D) Physiological.
In type of organization, workers receive instructions from various specialists.
(A) Line. (B) Functional.
(C) Informal. (D) None.

is the act of increasing the knowledge and skills of an employee for doing a job.

(A) Training. (B) Induction.

(C) Placement. ‘(D) Orientation.
The four types of social responsibility include :

(A) Legal, philanthropic, economic, and ethical.

(B) Ethical, moral, social, and economic..

(C) Philanthropic, justice, ic, and ethical.

(D) Legal, moral, ethical and economic.
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. The moral case for CSR, i.e. that it is the right thing to do, is justified by which of the following

arguments ?
(A) That the corporation is a creation of society and should therefore serve its needs.

(B) That the corporation is a legal creation and therefore cannot be a moral agent.

(C) Large corporations do not have the power or to add society's p

q

(D) Busi decisions will h ";md i 1 which will be add

by governments.

. Which of the following form part of the business case for CSR ?
(A) Better motivated staff reduce operating costs.
(B) Increased brand value and reputation.
(C) The maintenance of the Tlicence to operate’.
(D) All of the options given.
are the principles, which govern and guide business people to perform business functions.
(A) Business ethics. (B) Code of conduct.
(C) Al of these. (D) None.
—————leader tries to make the subordinates to feel that they lly participating in d
making even though he had already taken the decision.
(A) Participative. (B) Freerein.
(C) Manipulative autocrat. (D) None of these.
MBO stands for ?
(A) M: t of Business Obj
(B) Management By Objectives.
©) M ing Busi 0
(D) None of these.
A ding to PP h t is a logical process and it can be expressed in terms
of mathematical symbols and relationshi
(A) Empirical. (B) Management science.
(C) Contingency. (D) Operational.

Turn over
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is the art of knowing exactly what you want men to do and then seeing that how they do
it in the best and cheapest way.

(A) General management. (B) Scientific Management.

(C) Administration. (D) None.

The author of the famous book “General and Industrial Management” is

(A) Henry Fayol. (B) F.W. Taylor.
(C) Henry Gantt. (D) None.
M can be idered as
(A) Exact science. (B) Inexact science.
(C) Psuedoscience. (D) (B)or (C).
According to functional f hip, the speed boss, Inspector, foreman and gang boss are entrusted
with the -aspect of work.
(A) Planning. (B) Organizing.
(C) Doing. (D) None of these.
- Luther Gullick described functions of t as
(A) PODSCORB. (B) POSDCORB.
(C) POCSCROB. (D) PODSORB.

are the simplest and the most specific type of standing plans.

(A) Policy. (B) Rule.
(C) -Project. (D) Schedule..

pproach of , heavily on People aspect of management
(A) Human relation. (B) System.

(C) Empirical. (D) Management science.
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Section A

Answer at least ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.

1. What do you mean by MBE ?

2. What is planning ?

8. What is theory of motivation in management ?
4. How Morality is useful in business ?

5. What is ‘Separatist View’ in business ethics ?
6. What is duplex communication system ?

7. Why is CSR important to shareholders ?

®

. What is the purpose of ethics ?

©

. What are the advantages of laissez faire leadership ?
10. What is stress management ?

11. Why is flexi working ?

12. What are the types of ISO standards ?

13. What do you ‘mean by logistic management ?

14. What is the delegation process ?

15. What are the principles of coordination ?

(10 x 3 = 30 marks)

Turn over



16.

17.
18.
19.
20.
21.

22.
23.

24.

25.
26.
27.

2
Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.

Overall Ceiling 30.

Write a note on MBO.
What are the merits and demerits of Maslow’s theory of motivation ?
What are the principles of organising ?
Write a note on teleological theory of ethics.
What is departmentation process ? What are the types of departmentation ?
Write a note on corporate citizenship.

Name the steps in the impl ion of CSR

‘What are the core principles of corporate governance ?

Section C

Answer any two questions.
Each question carries 10 marks.

Write an essay on i pts in
Discuss the important functions of management.
Explain the various theories of ethics.

‘What are the major leadership styles ? Explain.

D 94064
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INSTRUCTIONS TO THE CANDIDATE
1. This Question Paper carries Multiple Choice Questions from 1 to 20.

2. The candidate should check that the ion paper supplied to him/her ins all the

20 questions in serial order.

3. Each question is provided with choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and enter it in the main answer-book.

4. The MCQ question paper will be supplied after the letion of the descriptive
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Answer at least ten questions.
Each question carries 3 marks.
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Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.
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Section C

Answer any two questions.
Each question carries 10 marks.
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Section A

Answer at least ten quzstinns;

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.
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Section B
Answer at least five questions.
Each question carries 6 marks.
All questions can be attended.
Querall Ceiling 30.
(A1 g efien ‘Brsit @madCoen’ Amy) 15 &) HEYRALSHES
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Section C

Answer any two question.
Each question carries 10 marks.
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26. pruGumfafasded upPs sL BT JewES.
27. 586 QumMACUWTESD :

Everyone wants to be successful and rich. I also dream of becoming successful in the field
I choose although I am still indecisive about the career path I will choose. But I know

whatever I choose I will work hard, stay focused and make it big.

I also dream of doing something for my country. There are so many problems in the
country such as poverty, illiteracy and casteism to name a few. Our country was once
known for its rich cultural heritage which is all robbed now. The crime rate in the country
is at an all time rise and so are various other issues. While there are a lot of loopholes in
the India poliﬁcal system that has led to these problems however we cannot blame it all on
the government. Each one of us should contribute our bit towards our country’s
development. I am a firm supporter of each one teach one and have been teaching my
maid’s child since the last two years.

(2 x 10 = 20 marks)
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(Multiple Choice Questions for SDE Candidates)

Time : 15 Minutes Total No. of Questions : 20 Maximum : 20 Marks

INSTRUCTIONS TO THE CANDIDATE
1. This Question Paper carries Multiple Choice Questions from 1 to 20.

2. The candidate should check that the question paper supplied to him/her contains all the
20 questions in serial order.

3. Each question is provided with choices (A), (B), and (C) having one correct answer.

Choose the correct answer and enter it in the main answer-book.

4. The MCQ question paper will be supplied after the pletion of the descriptive

examination. "
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10.

11.

12.

Answers may be written in Sanskrit, Malayalam or in English.
In writing Sanskrit, Devanagari script should be used.

Section A (Short Note Questions)

Answer atleast ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.
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(10 x 3 = 30 marks)
Section B (Paragraph Questions)
Answer atleast five questions.
Each question carries 6 marks.
All questions can be attended.
Overall Ceiling 30.
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(5 x 6 = 30 marks)

Section C (Essay Questions)

Answer any two questions.
Each question carries 10 marks.
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Tepfia: AR 39 |
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FEvEdes Bui fregad |

(2 x 10 = 20 marks)
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Time : 15 Minutes Total No. of Questions : 20 Maximum : 20 Marks

INSTRUCTIONS TO THE CANDIDATE

1. This Question Paper carries Multiple Choice Questions from 1 to 20.

2. The candidate should check that the q ion paper supplied to him/her ins all the

20 questions in serial order.

3. Each question is provided with choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and enter it in the main answer-book.

4. The MCQ question paper will be supplied after the pletion of the descriptive

examination.



2 D 94060
MAL 1A 07 (2—MALAYALA SAHITHYA PADANAM - I
(Multiple Choice Questions for SDE Candidates)
. ‘mromeyridiexsmo’ apees @) ?
(A)  @E)dsyndemmonad. (B) mil.og. emommy.
(C) agp.al. gatod. (D)  auo@od apaends.

3 mmm;wm'lsxﬁ DaOWIBD BMEPIBYM AREYME BLIIHEHIE @oemiedlaond alel Aflainoagio
amAIBSENE] QLYo ag)M) A IOEHTD) Nomdd :

(A)  @naleguogiad. (B) ggoago.
(C) =0, (D)  enudemonuins0.

- @alleden dojaimdeni @ennoemgen mendaaegel wimmodamanglele agauimgs
MYOBHYDOEMBIMNET ag)o.ag)d. AlRWID aso@mMe ?

(A)  enITWMMOMOIIMISS. (B) myoEmmoaomes.

(C)  avamomimmonuomyes. (D) ayemisone GMsomes.

‘4. @oUABYDRIRBAENMN BB EIANANTSEIM IO IMETBIBHS gDy muoullesilagimos Geleueag

@0E) (oo :
(A)  qvgflas qoadi®yo alomfla@moeed.
(B) 0ojaniaJ(@eBes aomlay@aosedm.
(C)  HEWIREBOY aloMaYMISHID.

D)  adloudielieig 8 atomalk

. SDOMVLIA g)#IEMBO0eE (ULl Mjgjo agiTMIET aglMIs agio.ag)id. Alewe @ erelniowo :

(A) at0Mo.

(B) (g

(C)  enuanyaiad.

D) (pfoi@aion 2I0REBROAWIW (IOGYEER
. oanimy ’ ag) 93O 00M ) N 220)MENm} £0eMOaMmOISeMmMom’
agyo.agyid. aflrwad aiowymae’ ?

(A) (o). (B) aJsmo.

(C)  @rauOBdUEA. (D)  @oaobawy eangled.



7.

10.

11.

12.

13.

3 D 94060
ARMIORASRE0} DM SRJOBDAUNEOE! BIY) BIETEOM®IT ?
(A)  @onddle em@oBad. (B) o®mem®Ienad.
(©)  alapdmd enmoeedd. (D)  emvleiog] aNOBOD.
@ agEiauden 0o@mea ameeaalmeid dmam cosw)ss;.

(A)  Epomaworumoia. (B) epaumuoid.

(C)  eenusswoRmIUMORIM. (D) mresa@InImolad.
. @06M0 B arflony H6ASHOIN d@0 o™ 3 QUM
oonld apd oayal )Y enflay ?

(A) o®emmIeOD. (B)  aflequse,80@ aflome.@d.

(C) o®EIBMINWSD. (D)  afleusls:80m (Iaudald:d.

6NI0AN)BDO ADMEERO EDW BHHOR MorUOEMANC2] (el l0dlenM BOAIMOMjnHl@osT £.a10)
SLOODY EEN(IODOQFO :
(A)  eaugf. (B) emoademg eado.
(C)  amosderoed. (D) dlagodasmoerd.
@RWYTIE: H2IOKRLO ag)Tm@O] ERSIED; riddsnmy ?

(A)  @pwyie nayaeoel. (B) smoneeagaoi.
(C) emocueyeomi. (D)  ememelmanaoi.
1976-@ 3608 MIGI®) LA o }AMIBI00 ENEID aglo. MBRBICOWRNMD0 agyss ?
(A)  asmo a)denielo. (B) adlajaimes @mosaue.
(C) oeemudieg]l (D)  a@2/IRPOEHAUMNS TRORSBMBAR.
220! ag)wila’ @em smomefleaomoally) agmoe (s lig)el ?
(A)  ocememf. (B) @omoalm.

(©) almios, (D) eemmPOUlal.



4 D 94060

14, QIMeIST @ Irl)e S:)SjoamIne ag)TmOeT mamdlae ?

(A) EPWIBA. (B) saugwodiw aynaniad moall.
(C) amad. (D) 8050198,
15. a@eo a6y dajefimy X AW} MaHa58a 0B 9o ITIeS oy ea10dl g om
amoefimymy ?
(A)  ®aes Mo Mayoe|eso. (B) mames anjem@o MaY¥oaeso.

(C) mamyes m@aomo Mayha{ag0. (D)  mames MMIET Mageaag0.
16. 2@l agafiasendem alowieng|eld wow oI ?

(A) 2somes BSOS, (B) e aal di 5.

(C)  exnywes Ers)EEmes. (D)  mredeomoaled cosncoasisemicaos).
17. 2 8 @A, 6l agoomiiosdie mima agmoem ?

(A)  aymeufiasnme. (B) ecaumadendelo.

(C)  aomeso aliglsh aomamonel wjgy. (D) aflg).
18. ®WERd0NGE @A) eMOUAd agmoeT ?

(A)  aBEEW (ilas:mmo. (B) mpomiloandmumemad.
(€) agwyanas. (D) osmud.
19. oddeI10mBam R 2j0 @) Slow ag THO6M Wdama10eImd aIOSTE :
(4)  @raeouiwonl. (B)  dfleaimousl@om.
(©) epgangoo. (D) @ldmena.
20. @) A0NNE aG®y (dlasty wiamaloeiem aidlgflaye ?
(B) 0@ Bod. (B) asdgy.

(C)  @yooemownmd. (D)  (asmommad.



D 94060 (Pages:2+4=6) Name...ccccoeverrereereninrenentrnenseenes

FIRST SEMESTER (CBCSS) DEGREE EXAMINATION, NOVEMBER 2020
Malayalam (B.Com./B.B.A)
MAL 1A 07 (2—MALAYALA SAHITHYA PADANAM - 1
(2019 Admissions)

Time : Two Hours and a Half Maximum : 80 Marks

Section A

Answer at least ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.
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(10 x 3 = 30 marks)
Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.
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Section C
Answer any two questions.
Each question cal“ries 10 marks. .
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(Multiple Choice Questions for SDE Candidates)

Time : 16 Minutes Total No. of Questions : 20

Maximum : 20 MarksJ

INSTRUCTIONS TO THE CANDIDATE

This Question Paper carries Multiple Choice Qi ions from 1 to 20.

The candidate should check that the question paper supplied to him/her contains all the
20 questions in serial order.
Each question is provided with choices (A), (B), and (C) having one correct answer.

Choose the correct answer and enter it in the main answer-book.

The MCQ question paper will be supplied after the letion of the descriptive

examination.
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Section A (Short Note Questions)

Answer atleast ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.
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(10 x 3 = 30 marks)
Section B (Paragraph Questions)

Answer atleast five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.
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Section C (Essay Questions)

Answer any two questions.
Each question carries.10 marks.
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Section A

Answer at least ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.
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Section B
Answer at least five questions.
Each question carries 6 marks.
All questions can be attended.
Overall Ceiling 30.
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(5 x 6 = 30 marks)
Section C

Answer any two questions.
Each question carries 10 marks.
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(2 x 10 = 20 marks)
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1. Consumption of a free good will be carried to the point at which :

(A) The marginal utility derived from the good equals the marginal utility derived from the
consumption of all other goods.

(B) Thetotal utility derived from the good equals the total utility derived from the consumption
of all other goods.

(C) The total utility derived from the good is maximised.
(D) The marginal utility derived from the good begins to decline.
2. Which of the following statements is NOT TRUE of indifference curves ?
(A) They could intersect.
(B) They are convex to origin.
(C) They exhibit higher levels of utility.
(D) As you move from the origin.
3. The rate at which a consumer is able to substitute one good for another is determined by the :
(A) Consumers income. (B) Indifference map.
(C) Ratio of the prices of the goods. (D) Marginal rate of substitution.
4. Indian economy is :
(A) Socialistic. (B) Mixed.
(C) Gandhian. (D) Free economy.
5. Which of the following is a measure to reduce inequality of income ?
(A) Promotion of industries.
(B) Social securities.
(C) . Granting of credit to poor on concessional rate.
(D) None of these.

Which of the following is a social consequences of unemployment in india ?

<

(A) Burden on the government. (B) Loss of income and respect.

(C) Wastages of resources. (D) None of these.
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7. Indian economy growth is primarily driven by :
(A) Industry. (B) Agriculture.
(C) Service. (D) None of these.
8. Indifference curve analysis is a :
(A) Cardinal utility approach. (B) Ordinal utility approach.
(C) None of these.
9. Macro economic theory is also known as :
(A) Price theory. (B) Income theory.
(C) Demand theory. (D) None of these.

10. Ifthe income elasticity of demand is that one, the good is a :

(A) Necessity. (B) Luxury.
(C) Substitute. (D) Complement.
11. What effect is working when the price of a good falls and consumers tend to buy it instead of other
goods ?
(A) Income effect. (B) Substitution effect.
(C) Price effect. (D) None of these.

12. Ifthe income and substitution effect of a price increase works in the same direction the good whose

price has changed is a :

(A) Giffen goods. (B) Inferior goods.

(C) Normal goods. (D) Superior.
13. In which production function, the degree of homogeneity is always one :

(A) Cobb Douglas production fuction.

(B) Homogeneous production function.

(C) - Linear homogeneous production function.

(D) None of these. L
14. Which cost are recorded in books of accounts ?

(A) Opportunity cost. (B) Implicit cost.

(C) Social cost. (D) Explicit cost. Turn over
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Duopoly is :
(A) Another name for monopoly.
(B) Special type of monopolistic competition.
(C) Two firm oligopoly.
(D) None of these.
Removing barriers or restrictions set by the government is called :

(A) Liberalization. (B) Investment.

(C) Favourable trade. (D) Free trade.
The most outstanding feature of the capitalist economic system is :

(A) Unemployment. (B) Poverty.

(C) Inequality of income. (D) Industrial backwardness.
Which of the following is not a development issue in india ?

(A) Unemployment. (B) Population pressure.

(C) Inflation. (D) Decreasing trend of foreign capital.
The portfolio investment by foreign institutional investor is :

(A) FDI. (B) FIIL

(C) BOP. (D) SDR.
What is happening with the import of Chinese toys in India ?

(A) Indian toys are selling more.

(B) Indian consumers are buying less.

(C) Indian consumers are getting more choice at cheaper rates.

(D) ' Chinese consumers are falling short of choice.



D 93734 (Pages : 2) Name....coceereeceseerseseranccrsenersnness

Reg. NO..cocvveerecsccnnecncneenesaanenene

FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION, NOVEMBER 2020
(CBCSS)
B.Com.

BCM 1C 01—MANAGERIAL ECONOMICS
(2019 Admissions)
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Section A

Answer at least ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.

1. State the scope of Managerial Economics.
2. What is Normative Economics ?
3. Who is a managerial economist ?
4. What do you mean by consumer behaviour ?
5. What do you mean by Veblen effect or demonstration effect ?
6. What do you mean by equilibrium price ?
7. How does exchange rate affect economy ?
8. What do you mean by market economy ?
9. What is collusive oligopoly ?
10. What is duopoly ?
11. Write a short note on equilibrium firm in the short run.
12. What do you mean by price leadership ?
13. ‘What is the supply curve in perfect competition ?
14. What do you mean by MNC ?
15. Name the different types of unemployment.

(10 x 3 = 30 marks)

Turn over
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Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.

How will you arrive at a business decision ?
Explain the objectives of managerial economics.
What do you mean by elasticity of demand and what are the types of elasticity of demand ?
What are the exceptions to the law of diminishing marginal utility ?
Distinguish between Perfect Competition and Monopoly.
What are the responsibilities of a managerial economist ?
Write a note on price consumption curve and income consumption curve.
Explain the concept and types of elasticity of demand.
(5 x 6 = 30 marks)
Section C

Answer any two questions.
Each question carries 10 marks.

Explain Price Determination under Oligopoly.
Write a detailed note on IPR.
Explain the causes of inequalities.

Discuss the overall economy in Kerala since the late eighties.
(2 x 10 = 20 marks)
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BCM 1B 01—BUSINESS MANAGEMENT
(Multiple Choice Questions for SDE Ca_ndidateS)

ISO emphasis on :
(A) Prevention. (B)
(C) Rejection. (D)
TQM & ISO both focuses on :
(A) Customer. (B)
(C) Supplier. (D)

Where was the TQM emerged ?

(A) Japan. (B)

(C) India. (D)
Ethics is a system of ————— principles.

(A) Moral. (B)

(C) Value. (D)

Need Hierarchy theory was developed by
(A) Mc Gregor. (B)
(C) Herzberg. (D)

Inspection.

All the above.

Employee.

All the above.

Germany.

America.

Guiding

None.

Abraham Maslow.
Mc Clelland.

The desire to reach the peak of one’s potential is called as — M.

(A) Self Actualization needs. (B)

(C) Esteem need. (D)

Safety nced.

Social need.

is a statement of expected results expressed in quantitative terms for a period.

(A) Plan. (B)

(C). Schedule. (D)
What is meant by the phrase CSR ?

(A) Corporate Social Responsibility.  (B)

(C) Corporate Society Responsibility. (D)

Budget.

None of these.

Company Social Responsibility.

Company Society Responsibility.
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9. The goal of corporate governance and business ethics education is to :

(A) Teach students their professional accountability and to uphold their personal Integrity to
society.

(B) Change the way in which ethics is taught to students.
(C)  Create more ethics standards by which corporate professionals must operate.
(D) Increase the workload for accounting students.

10. The moral case for CSR, i.e. that it is the right thing to do, is justified by which of the following
arguments ?

(A) That the corporation is a creation of socicty and should therefore serve its needs.
(B) That the corporation is a legal creation and therefore cannot-bc a moral agent.
(C) Large corporations do not have the power or resources to address society's problems.

(D) Businessdecisions will have social and environmental consequences which will be addressed
by governments.

11. Which of the following form part of the business case for CSR ?
(A) Better motivated staff reduce operating costs.
(B) Increased brand value and reputation.
(C) The maintenance of the 'licence to operate'.
(D) All of the options given.
12. The main purpose of business ethics is to ?
(A) Understanding ethical uncertainties.
(B) Principles and concepts.
(C) Application of practices.
(D) _All of the above.

13. ————— leader tries to make the subordinates to feel that they are actually participating in
decision-making even though he had already taken he decision.

(A) Participative. (B) Free rein.

(C) Manipulative autocrat. (D) None of these.

Turn over
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is considered as the primary function of management ?
(A) Organizing. (B) Planning.
(C) Staffing. (D) Controlling.
is the process of identifying and grouping of work to be performed.
(A) Organizing. (B) Staffing.
(C) Division of labour. (D) Planning.

Koontz and O’Donnel are the advocates of ——— approach to management.

(A) System approach. (B) Empirical.

(C) Contingency. (D) Operational.
Father of Modern Management theory is — —— —.

(A) Henry Fayol. (B) F.W.Taylor.

(C) Henry Gantt. (D) None,
Luther Gullick described functions of management as -

(A) PODSCORB. (B) POSDCORB.

(C) POCSCROB. (D) PODSORB.

a process of integrating the interdepartmental activities as unified action towards the

Achievement of the common goal of the organization.
(A) Controlling. (B) Directing.
(C) Co-ordination. (D) All of these.

is a world wide federation of national standards bodies, with one body representing

each member country.
(A) ANSI. (B) IFRS.
(C) 1AS. (D) ISO.
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: Two Hours and a Half Maximum

Section A

Answer at least ten questions.

Each question carries 3 marks.

All questions can be attended.
Overall Ceiling 30.

Define Administration.

What is management by participation ?

What is Organising in management ?

Differentiate intrinsic motivation from extrinsic motivation.
Whai are the leadership theories in management ?

What do you mean by co-ordination ?

What is ethics in business ?

What do you mean by values ?

What is the difference between corporate social responsibility and ethics ?
Why is corporate citizenship important ?

What is corporate governance ?

What is functional departmentation ?

Define “Kaizen”.

: 80 Marks

Turn over



14. What is MIS ?

15. What is Gamification ?

16.
17.
18.
19.
20.
21.
22.

23.

24.
25.
26.

217.
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(10 x 3 = 30 marks)

Section B

Answer at least five questions.

Each question carries 6 marks.

All questions can be attended.
Overall Ceiling 30.

Differentiate management from administration.

What are the elements of business eco-system ?

What do you mean by fishbone diagram ? What are its advantages ?
Discuss the major stress management techniques.

Write a short note on the history of CSR.

What are the key ethical issues in international business ?

What are the major barriers in communication ?

What is delegation and what is its importance ?

(5 x 6 = 30 marks)

Section C

Answer any two questions.

Each question carries 10 marks.
Define Management and state what are its features.
Discuss the contributions of McGregor.
What are the factors influencing business ethics ?

What are the major principles of leadership ?

(2 x 10 = 20 marks)
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Section A

Answer all questions.

Each question carrics 1 mark.

(A) Choose the correct answer :

6 3
1 Find the determinant value of B = ’ 4 ?
(a) 6. (b) 5.
(¢) -5. (d) 12.

2 Solve 7(X - 2)+8(X-3)-22=X+10. HereX =

(a) 6. (b) 4.
(c) 10. (d) 5.
16 . .
3 Consider the GP 12,38, 3 What is the common ratio of the GP ?
! 2
a) 3 (b) 3
(c) 2 4
c) 2. (d) 3

Turn over
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4 When the mean is greater than the median and median is greater than mode, then skewness
is said to be

(a) Positive. (b) Negative.
(¢) Neutral. (d) None of these.

5 When a frequency curve is more peaked than the normal curve it is called ?
(a) Meso kurtic. (b) Platy kurtic.

(c) Leptokurtic. (d) None of these.
(B) Fillin the blanks :

6 is a well defined collection of distinct objects.

7 If matrix A = [3 :] . Find 4A.

X

8 Which term of the sequence 72, 70, 68, 66 ——————— i 3
9 Search for knowledge about some problem through statistical devices is called
10 Median of the series 4, 45, 60, 20, 83, 19, 26 is
(10 x 1 = 10 marks)
Section B

Answer at least five questions.

Each question carries 4 marks.

All questions can be attended.
Overall Ceiling 20.

11 Write down the relation ‘a is the square of b’ in the set A

A ={1,3,5,9,10, 25}.

12 If A= 523 B= 345 . Find 2A + 3B.
1 7 4 8 71

13 Solve 4x +3y =2x+7
3x=3y+2x -1
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14 The 6 and 17! terms of an AP are 19 and 41 respectively. Find the 40" term.

15 The mean mark obtained by 50 boys in a class is 40 and mean marks of 30 girls of the same
class is 46. Find the mean of the marks of all the students taken together.

16 Calculate geometric mean of the following figures :
57.5, 87.75, 53.5, 73.5, 81.75

17 Find the quartile deviation for the following values :
28, 32, 25, 42, 55, 82, 10, 25, 40, 38, 39

18 Which are the methods of describing a set ? Explain.

19 Represent A - B by means of Venn diagran.

20 Following table gives the birth rate per thousond of different countries over a period :
Country Birth rate
India 33
Germany 16
UK 20)
China 40
Newzeland 30
Sweden 12

Represent the above data by a simple bar diagram.

(5 x 4 = 20 marks)

Section C

Answer at least four questions.
Each question carries 8 marks.

All questions can be attended.
Overall Ceiling 32.

21 A town has total population of 50000. Out of it 28000 read The Hindu and 23000 read Business

Line. While 4000 read both the papers. Indicate how many neither The Hindu nor Business
Line read.

4 2
22 Find the inverse of A = 3 1/

Turn over
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_y -1 _
Solve A } = —y and 3x 4y =X - 10
2 3
Solve the equation x2 - 4x +3=0.
. . . 512

Which term of the progression 18,-12,8,.....1is 799"
What are the limitations of statistics ? Explain.
Draw a histogram :

Mid Value 15 25 35 45 55 65 75

Frequency 10 24 40 32 20 14 4

What are the different kinds of index numbers 7 ixplain.
(4 x 8 = 32 marks)
Section D

Answer any one question.
The question carries 18 marks.

Solve the following equation by using matrix :

5x -6y+4z=15
Tx+4y-3z=19
2x + y+6z=46.

Calculate median
Marks (less than) 15 30 45 60 75 90
No. of students 18 35 62 81 95 100

Calculate standard deviation and variance for the following data :
Marks (Below) 10 20 30 40 50 60 70

No. of students 2 6 11 20 30 35 50

(1 x 18 = 18 marks)
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Section A

Answer all questions.
Each question carries 1 mark.

I. Choose the correct answer :

1 Our wants are

, but means are

(a) Unlimited ; limited. (b)y Limited : lhmited.

(¢) Limited ; unlimited. (d) Unlimited ; unlimited.

2 During boom, demand

and during depression, demand

(a) Increase ; decrease. (b) Increase; increase.
(¢) Decrease ; decrease. (d) Decrease ;increase.
3 includes both explicit and implicit costs.
(a) Social cost. (b) Fixed cost.
(¢c) Marginal cost. (d) Economic cost.

4 The growth rate of which of the following sectors has very low employment elasticity ?

(a). Manufacturing. (b) Construction.

(c) Insurance. (d) Mixed farming.

5. The Kinked demand curve hypothesis is designed to explain

in the context

of Oligopoly.
(a) Priceleadership. (b) Pricerigidity.
(c) Collusion among rivals. (d) Price and output determination.

Turn over
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II. Fill in the blanks :

6

10

11
12
13
14
15
16
17
18
19

20

represents different combinations of two factors of production that yield the
same level of output.

The concept of Elasticity of demand was introduced by

If the price of the commodity increases, then the consumer surplus

is a pricing strategy that sets a low initial price for a product at the beginning.

is the net addition made to total cost by the production of ene additional
unit of output.

(10 x 1 = 10 marks)
Section B

Answer at least five questions.

Each question carries 4 marks.

All questions can be attended.
Overall Ceiling 20.

Define Managerial Economics.

What is ‘Equilibrium price’ ?

What is meant by Marginal productivity ?

State any two differences between Veblen Goods and Giffen goods.
Define ‘Opportunity Cost’ principle.

Write a short note on ‘Delphi Technique’ of Demand Forecasting.
List any two evil effects of Inflation in the market.

What do you mean by Price Leadership ?

What is Cross Elasticity of Demand ?

What is Production Function ?

(5 x 4 = 20 marks)
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Section C

Answer at least four questions.

Each question carries 8 marks.

All questions can be attended.
Overall Ceiling 32.

State the important characteristics of Business Cycle.
Give an outline on factors determining the behaviour of cost.

Point out the key differences between ‘Market Penctration’ pricing and ‘Market Skimming’

pricing strategies.
Analyse the features of a Monopolistic competitive market.
“Demand curve normally slopes downward<”. Discuss.
Enumerate the three stages in the i of Variable Proportions diagrammatically.
Whatis ‘Price Discrimination” under Monopnly 7 Mentionits merits and demerits.
Narrate the macro economic problems faced by an Emerging country like India.
(4 x 8 = 32 marks)
Section D

Answer any one question.
The question carries 18 marks.

Discuss in detail the different types of Costs used in the field of Managerial Economics.
Explain elaborately the scope and importance of Managerial Economics.

Give an overview on the Kinked Demand Curve Model of Oligopoly. Also, state its criticisms.
(Diagram is must)

(1 x 18 = 18 marks)
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1.3 BCP—PRINCIPLES AND PRACTICE OF ACCOUNTING
[Common to 2017 and 2019 Syllabus Year]
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Section A

Answer all questions,

Each question carries 1 mark.
A) Choose the correct answer :

1 Strictly speaking the profession of acccunting would be denoted by the word :
(a) Accounting. (b)  Accountancy.
(¢) Chartered Accounting. (d) Cost Accounting.

2 On dissolution, all assets are transferred to realization a/c at :
(a) Book Value. (b) Market Value.
(¢) Cost Price. (d) Replacement Value.

3 AS-14 deals with :

(a) Fixed Assets. (b) Goodwill.

(c) Liquidation of Companies. (d) Accounting for Amalgamation.
4 Bills Receivable endorsed is debited to :

(a) Bills Payable A/c. (b) Debtors Alc.

(¢) Endorsee A/c. (d) None of these.

5 Trial Balanceisa:
(a) Final account. (b) Statement of day books.

(c) Subsidiary book. (d) None of these.

oooooooooooooooooooo

oooooooooooooooooooo

. 80 Marks

Turn over
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B) Fill in the blanks:

6 ‘Epoque’is the name given to a method of calculating

7 The cost of goods sold account on hire purchase system is transferred to

8 —————is the main or principal book of accounts.
9 Gain ratio is applied when a partner
10 Abnormal loss on consignment is recorded into ———— A/c.
(10.x 1= 10 marks)
Section B (Short Answer Questions)

Answer at least five questions.

Each question carries 4 marks.

All questions can be attended.
Overall Ceiling 20.

11 What is meant by hire purchase charges ?
12 What is gaining ratio ?

13 What is independent branch ?

14 What is co-venture ?

15 What do you mean by renewal of bill ?

16 What is meant by account sale ?

17 What is debtors system ?

18 What is revenue recognition concept ?

19 What is realization account ?

20 Calculate the value of goodwill, on the basis of 3 years’ purchase of the annual average super

profits :

Average capital employed Rs. 50,000
Normal rate of return 10%
Average profit Rs. 7,000

(5 x 4 = 20 marks)
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Section C (Short Essay Questions)

Answer at least four questions.

Each question carries 8 marks.

All questions can be attended.
Overall Ceiling 32.

Mention the factors governing the conversion of a firm into a limited company.
Differentiate between Consignment and Sales.
How will you ascertain the amount due to the legal heirs of a deceased partner ?

State the various causes of disagreement between the balances shown by the cash book and
the pass book.

On January 1, 2012 B owes to A Rs. 1,000. A draws on him a bill for Rs. 1,000 for three
months. The bill is discounted for Rs. 980. On the date of maturity B requests A for renewal of
the bill. A agrees to his request and the following :orangements is made.

B pays Rs. 400 in cash and requests for the renewai ¢f the balance for two months, charging
interest @ 6% p.a. to be included in the new bill. B/berome:s insolvent on June 2, 2012 and
only 1/3rd of the amount could be recovered from his ¢staic.

Record the above transactions in the books of B.

A company has two departments, A and B. Department A sells goods to Department B at
normal market price. From the following particulars, prepare a Departmental Trading and
Profit & Loss a/c for the period ended as on 31-3-2014.

Department A (Rs.) [ Department B (Rs.) | General total (Rs.)

Opening stock 15,000 | = | e
Purchases 2,50,000 40,000

Goods from Department A | ~  ----- 40,000

Wages 15,000 20,000

Salaries (Departments) 7,000 5,000

Closing stock at cost to Dept. 80,000 20,000

Sales 2,60,000 1,45,000

Printing & stationery 2,500 1,500

Turn over
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Department A (Rs.) | Department B (Rs.) | General total (Rs.

Machinery | ____ 15,000

Advertisements |  _____ | 12,000

Salaries (General)

..... 18,000

Provide depreciation @ 10% on machinery. The general unallocated expenses are to be
apportioned in the ratio of 2:1 to the Departments A and B.

27 On 1st January 2010, Mr.Ahammed purchased a machinery on hire purchase system and

28

29

agreed to pay in five installments as under :

On 315t December 2010 Rs. 4,500
On 315t December 2011 Rs. 4,200
On 315t December 2012 Rs. 3,900
On 315t December 2013 Rs. 3,600
On 315t December 2014 Rs. 3,300

He also agreed to pay 10% p.a. interest on unpaid balance of cash price. Compute Cash Price
and Interest.

Define accounting standard. Also explain AS 1 to AS-6

(4 x 8 = 32 marks)

Section D (Essay Questions)

Answer any one question.

The question carries 18 marks.

Sony of Cochin consigned goods costing Rs. 72,000 to Freny of Kannur at a proforma invoice
price which is cost plus a profit of 1/6%" on invoice price. The consigner paid Rs. 1,800 as
insurance and other charges. Freny received the goods and paid Rs, 3,000 for freight and
other charges. He was allowed 3% commission on gross sales.3/4th of goods were sold at
33 1/3 "4 % profit on cost, half of which were credit sales. Half of the balance was stolen, but
the stock being insured, a claim was lodged for Rs. 8,000 and was settled for Rs. 7 ,000. Balance

of stock was valued at proforma invoice price.

Write up the Consignment and Abnormal loss accounts.
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B and C were partners sharing profits and losses in the ratio of 4:3:1 respectively. Their
lance sheet as on 315t March 2104 was as follows :

Liabilities Rs. Assets Rs.

A’s Capital A/c 70,000 Plant 60,000
B’s Capital A/c 30,000 Furniture 20,000
C’s Capital A/c 50,000 Stock 55,000
Loan from A 10,000 Debtors 60,000

Bank loan (secured by a

floating charge) 8,750
Creditors 26,250
1,95,000 1,95,000

1ey decided to dissolve the firm. The assets were realized gradually and the net amounts
ere distributed immediately as given below :

Date of realisation Gross amount Realised (Rs.) | Expenses paid (Rs.)
2014 May 20 22,000 2,000
2014 July 30 16,800 1,800

2014 September 20 38,000 3,000

2014 November 15 45,000 5,000

2014 December 31 72,000 7,000

epare a statement showing piecemeal distribution of cash and the ultimate loss borne by

e partners.

ie following is the trail balance of Hilltop Ltd as on 31st December 2016 -

Particulars Debit (Rs.) Credit (Rs.)
Purchases 1,80,000
Stock (Jan 1,2015) 10,000
Salariesless P.F. 5,400

P.F. Remittance including

Prop. contribution 50% 1,200

Turn over
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Particulars Debit (Rs.) Credit (Rs.)
Rent @ 250 p.m. 2,750
Machinery 29,000
Wages 3,000
Furniture & fittings 5,000
Electricity 550
Trade expenses 1,500
Debtors 10,500
Interest on loan 900
Commission 200
Buildings 30,000
Sales 2.05.000
Loan (10% Interest) rGen
Creditors THh (00
Capital 55,000
Drawings 5,000

2,85,000 2.85,000

Prepare Trading and Profit & Loss a/c for the year ended 317" December 2016 and Balance
Sheet as at that date after taking into account the following information :

a)

b)
c)
d)
e)
f)

g)
h)

D)
R
k)

On 1-1-2016, Machinery worth Rs. 5,000 was sold for Rs. 4,000 and credited to
machinery account.

Wages include Rs. 1,000 paid for machinery erection charges.

Purchase includes cost of Moped Scooter for Rs. 5,000.

Proprietor has taken goods costing Rs. 1,000 for which no entry has been made.
Sundry debtors include Rs. 500 which has become bad.

Provide 10% reserve for bad debts.

Electricity outstands Rs. 50.

Goods costing Rs. 5,000 were destroyed by fire, and insurance claim was received for
Rs. 4,000.

Provide depreciation at 10% on machinery, furniture and moped scooter.
Provide depreciation @ 5% on buildings.
Closing stock is Rs. 12,000.
(1 x 18 = 18 marks)
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FIRST SEMESTER (CUCBCSS—UG) DEGREE EXAMINATION

NOVEMBER 2020

B.Com. (Honours)

Paper 1.5 BCH—BASIC NUMERICAL SKILLS

: Three Hours

Section A

Answer all questions.
Each question carries 1 mark.

IfA=1{1,2,3,4,5|B=1{4,5,6,7, 8} Find A - B.
How many terms are there in 20, 25, 30, —— 140 ?

Solve x% —6x+8 =0.

3 4
8 2

Value of the determinant of 1s

What do you mean by leading diagonal in a square matrix ?

Define Statistics.

What is primary data ?

Find Mode :
Size 8 10 15 25 35
Frequency 12 23 42 18 12

Find Harmonic mean of 325, 50, 2, 0.52.
What is Cost of living index ?

Section B

Answer at least five questions.

Each question carries 4 marks.

All questions can be attended.
Overall Ceiling 20.

What is geometric progression ?
IfA=1{1,23,45B=(4,5,6,7,8 C=1(8,9, 10, 11}

Prove that (A-B)N(A-C)=A-(BUC).

Maximum : 80 Marks

(10 x 1 = 10 marks)

Turn over
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24.
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Find the compound interest for Rs. 7,000 for 4 years if interest is payable half yearly at 6% p.a.

Solve ¥ =3(x+1)
4x=y+1

Find P + 4Q

SRR

12-1)
0 -1 3

Represent PN Q’ by using Venn diagram.

Find median from the following :

Si. no 1 2 3 4 5
Age 18 16 14 11 13
Find out range and its co-efficient :
x : 20-29 30-39 40-49 50-59
f 8 12 10 5

Find out standard deviation 30, 40, 42, 44, 46, 48, 58.

Calculate Simple index number :

Solve 8x+7y =10

11x=10-10y

Commodity Price in 2010 Price in'2015
A 80 95
B 30 50
C 80 125
D 70 90
Section C

Answer at least four questions.
Each question carries 8 marks.
All questions can be attended.

Overall Ceiling 32.

10 o 20

(5 x 4 = 20 marks)

n'h term of a sequence is given by a, =4, +7. List the first four terms of the sequence.

By using Venn diagram prove that AN(BUC)=(ANB)U(ANC)

A=(2 3 4)B=

-1 2 -5

1 2

3 -4| Find A x B.

-5 6
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26.
27.

28.

Solve 242 18y +8=0.

Explain the stages in statistical investigation.

Compute mean deviation about median from the following frequency distribution :

X 1-5  6-10 11-15 16-20 21-25 26-30 31-35 36-40 41-45

f 7 10 16 32 24 18 10 5 1
Calculate 7 yearly moving average for the following data :

Year Production

2000 23

2001 26

2002 28

2003 32

2004 20

2005 12

2006 12

2007 10

2008 9

2009 13

2010 11

2011 14

2012 12

2013 9

2014 3

2015 1

D 93718

(4 x 8 = 32 marks)

Section D

Answer any one question.
The question carries 18 marks.

29. Calculate Quartile deviation and its co-efficient from the following data :

Farm size (in acres) 0-40 40-80  80-120 120-160 160-200 200-240 240-280

No. of farms 394 461 391 334 169 113

148

Turn over
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Calculate Mode of the following data :
Marks (above) 0 10 20 30 40
No. of students 80 77 172 65 55
Solve the following equations by using matrices :
5x-6y+4z=15

Tx+4y-32=19
2x + y +62 = 46.

50

43

60

28

70

16

80

10

D 93718

90 100

8 0

1«18 = 18 marks)
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FIRST SEMESTER (CUCBCSS—UG) DEGREE EXAMINATION
NOVEMBER 2020

B.Com. (Honours)
1.4 BCH—FINANCIAL ACCOUNTING

Time : Three Hours Maximum : 80 Marks

Section A

Answer all questions.

Each question carries 1 niarl.
I. Choose the correct answer. Each question carries 1 murk :

- 13 prepared.

1 When the bank balance as per cash book and pas= book ditfer
(a) Bank reconciliation statement.
(b) Trading account.
(¢) Suspense Account.

(d) None of these.

2 Depreciation on asset is an example of ———— expenditure.
(a) Capital. (b) Revenue.
(¢) Direct. (d) None of these.

3 A sale of old machinery is credited to sales account. It is an error of
(a) Commission. (b) Omission.
(c) Principle. (d) Compensating.

4 All revenue expenditures are incorporated in :
(a) Trading Account. (b) Profit and Loss Account.
(c) Balance Sheet. (d) Trial Balance.

5 In which book you shall record “purchase of goods on cash” :
(a) Cash book. (b) Purchase book.

(¢) Purchase return book. (d) None of these.
Turn over
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Single entry does not exactly follow the principles of ——— system.
Closing stock = opening stock + purchases —
IFRS stands for ————

ratio helps to understand the liquidity in a business which is the potential ability to meet
current obligations.

Copy right is an example of —— asset.
(10 x 1 = 10 marks)
Section B

Answer at least five questions.
Each question carries 4 marks.
All questions can be attended.
Overall Ceiling 20.
Distinguish between return inward books and return outward book.
Explain the meaning of cash flow statement. Discuss its utility.

Calculate net profit ratio from the following :

Rs.
Sales less return 1,00,000
Gross profit 40,000
Administration expenses 10,000
Selling expenses 10,000

Write a note on the following :
(a) Contingent liability.
(b) Depreciation.
What do you mean by compensating error ?
Jouralise the following transactions :
(a) Sold goods to Raju for Rs. 8,000.
(b) Withdraw cash from office for personal use by the proprietor Rs. 3,000.
Record following transaction in sales day book :
January 1 - sold to ABC and Co :
10 table lamp @ Rs. 30
20 table fan (@ Rs. 1,500.
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18. How will you treat outstanding expenses in final accounts ?

19. Prepare trading account from the following information :

Rs.
Opening stock 12,500
Purchases 22,000
Purchase return 2,000
Wages 2,000
Carriage inward 500
Sales 57,000
Sales return 3,000
Closing Stock 15,000

20. What are the general features of IFRS ?
(5 x 4 = 20 marks)

Section C

Answer at least four questions.

Each question carries 8 marks.

All questions can be attended.
Overall Ceiling 32.

21. Prepare Mr. Suresh a/c as it would appear in the books of Rajesh :

Rs.
Sold Goods to S. Suresh 20,000
Received cash from him 5,000
Purchased goods from Suresh 4,000
Paid to Suresh 3,000
Sold goods to Suresh 20,000
Suresh returned goods 3,000
Receiveed cash from him 10,000
Purchased goods from Suresh 10,000
Returned goods to Suresh 3,000
Received cash from Suresh 7,200

and discount allowed to him 300

Turn over
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29. What are the advantages and limitations of Accounting Standards ?

23. Distinguish between capital expenditure and revenue expenditure.

D 93716

24. The following balances were extracted from the books of Mr. Sonu on 31* March 2020. Prepare

Trial Balance :

Cash in hand

Capital Account
Sundry Debtors
Machinery Account
Stock Account

Sales Account

Sales Returns Account
Rent Account

Salaries Account
Interest Account

Discount Received Account

Rs.
12,100
60,000

5,000
24,000
30,000
24,500

2,700

1,900

3,000

130

500

Bank Overdraft

Loan Account

Sundry Creditors

Furniture Account

Purchases Account

Purchase Returns Account
Wages Account
Advertisement Account
Commission received Account
Discount Allowed Account

Drawings Account

25. What do you understand by ratio analysis ? Examine its significance and utility.

26. From the following information, calculate cash from operation :

Particulars
Profit and Loss Account
Debtors
Bills receivables
General reserve
Wages outstanding

Salary prepaid
Goodwill

2019 2020
60,000 65,000
85,000 48,000
40,000 81,000

1,72,000 2,07,000
26,000 8,000
8,000 10,000

70,000 60,000

Rs.
2,630

. 40,000
. 15,000

8,000

. 59,000

3,800
1,100
800
3,000
300

1,400
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27. Mr. Das Gupta found that his bank balance as on 28-2-2020 as per the passbook was different

from that of the cash book. Prepare a statement to explain the difference based on the following :

* Bank balance as per passbook Rs. 8,500

Out of the cheques issued in February 2020 cheques for Rs. 3,900 were not presented for
payment.

® Cheques for Rs. 4,750 deposited into the bank where note collected and credited.

* A customer has paid directly to Das Gupta’s account a sum of Rs. 780 for which no entry

is found in the cash-book.
* According to standing instruction to the bank, they have paid.

* Das Gupta’s insurance premium for Rs. 350, which remains to be recorded in the cash-
book.

28. Explain the tools of financial analysis.
(4 x 8 = 32 marks)

Section D

Answer any one question.

The question carries 18 marks.

29. From the following information, prepare trading and profit and loss account and a balance sheet

of a joint stock company :

Fixed assets to capital 5/4
Fixed asset 5,00,000
Capital to liabilities 1/2

Net profit to capital 1/5
Gross profit retio 25 %
Stock turnover ratio 10 times
Fixed assets to total current assets 5/7

Net profit ratio 20 %
Closing stock 50,000.

Out of current assets debtors are Rs. 60,000 and balance represent cash.

Turn over
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30. From the following figures extracted from the books of Anand you are required to prepare trading
and profit and loss account for the year ended 31 December 2020 and a balance sheet as on the

date after making necessary adjustments :

Debit Balances : Rs.

Purchase 1,20,500
Stock on first January 2020 21,500
Salary 1-1.000

Rent and rates 3000
Insurance SO0

General expenses SLo100

Wages SERINI
Machinery S 000
Debtors SRRy
Cash at bank 3.000
Drawings 7,000
Credit Balances :

Capital 52,000
Sales 1,86,000
Sundry creditors 10,900
Adjustments :

Salaries for the month of December Still unpaid rupees 1600.
Insurance prepaid to the extent of Rs. 250.
Depreciate machinery by 10 %
Closing stock was valued at Rs. 26,000.
31. What do you understand by a Balance Sheet ? What is the object of its preparation ? Distinguish

a Balance Sheet and a Trial Balance.

(1 x 18 = 18 marks)
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FIRST SEMESTER (CUCBCSS—UG) DEGREE EXAMINATION
NOVEMBER 2020

B.Com. Honours
1.3 BCH —BUSINESS MANAGEMENT

Time : Three Hours Maximum : 80 Marks

Section A

Answer all question.

Each question carries 1. mark.
1. What is accountability ?
2. What is planning ?
What do you mean by unity of command ?
Define management.
What is policy ?
What is line organisation ?
What is interview ?

What do you mean by extrinsic motivation ?

© o N @ o s w

What are security needs ?
10. Define leadership.
(10 x 1 = 10 marks)
Section B
Answer at least five questions.
Each question carries 4 marks.
All questions can be attended.
Overall Ceiling 20.

11. What is the meaning of the term ‘control by exception’ ?

12.  Why is anagement is called an art ?

13. What is scalar chain ?

14. What do you understand by co-ordination ?
Turn over
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16.

18.
19.
20.

21.
22.
23.
24.
25.
26.
27.
28.

29.
30.
31.

What is fatiue study ?

What is strategy ?

What is MBO ?

Write any fwo merits of informal organisation.
What is selection ?

What is span of management ?

D 93715

(5 x 4 =20 marks)

Section C

Answer at least four questions.

Each question carries 8 marks.

All questions can be attended.

Overall Ceiling 32

State the factors affecting staffing pattern of an organisation.
What are the steps included in controlling process ?
Explain the different types of leadership.
Describe the contributions of F.W. Taylor in the field of management.
Explain the M.C. Gregor’s theory of motivation.
Explain the different types of organisation manuals.

What are the different sources of external recruitment ?

Why does business need committees ?

(4 x 8 = 32 marks)

Section D

Answer any one question.

The question carries 18 marks.
Explain the process of planning.
Explain the principles of sound organisation.

Discuss the features of management.

(1 x 18 = 18 marks)
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FIRST SEMESTER (CUCBCSS—UG) DEGREE EXAMINATION

NOVEMBER 2020
B.Com. Honours

1.2 BCH—PRINCIPLES OF INSURANCE

: Three Hours

Section A

Answer all questions.

Each question carries L mark.

What is null insurance ?

What do you mean by premium ?

Define Insurance.

What is FEA Discount ?

Define Annuity.

Who is an insurer ?

What do you mean by foreclosure ?

What is fidelity insurance ?

What do you understand by surrender value ?

What is the meaning of insurable interest ?

Section B

Answer at least five questions.

Each question carries 4 marks.

All questions can be attended.
Overall Ceiling 20.

What is nomination ?
State the features of fire insurance.

Write up the meaning of burglary insurance.

Maximum<: 80 Marks

(10 x 1 = 10 marks)

Turn over
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What is absolute assignment ?
Who can become a surveyor ?
What is a pure endowment policy ?
What is double insurance ?
List out the cases where refund of premium is allowed ?
Write any two benefits of health insurance.
What is a proposal form ?
(5 x 4 = 20 marks)
Section C

Answer at leasi Tour questions.
Each question coreio s S riarks.
All questionis can be cricinded.

Overall Coiling 32.
State the objects of reinsurance.
Describe the principles of insurance.
Explain the settlement procedure mechanism in a marine insurance contract.
Explain the functions of insurance.
What are the situations where surrendering of policies are not allowed ?
Explain the functions of IRDA.
Explain the implication of principle of warranties in a marine insurance contract.

Briefly describe the functions of Life Insurance Corporation as enumerated in Life Insurance
Corporation Act, 1956

(4 x 8 = 32 marks)
Section D

Answer any one question.

The question carries 18 marks.
Explain the different types of fire insurance policies.
Define life insurance. Explain its benefits.

Discuss the licensing procedure for insurer under the Insurance Act 1938.

(1 x 18 = 18 marks)
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION

NOVEMBER 2020
(CUCBCSS)
B.Com. Honours
1.1—BCH—COMMUNICATIVE ENGLISH
(Common to 2017 and 2019 Syllabus Year)

Section A

Answer all question.

Each question carries 10 rarks.

What is Extensive Reading ?
What is Scanning ?
Correct the sentence :

The weather is coldly.
Please make sure to ———— a jacket outside, (where/wear).
What is Debate ?
What is a covering letter ?
Give an example for complimentary close in a formal letter.
Insert articles wherever necessary :

He is graduate from USA.
The members of the choir ——— very happy with the performance. (is/are)
Complete the sentence :

If I had scored at least the minimum marks,

Maximum : 80 Marks

(10 x 1 = 10 marks)

Turn over
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Section B

Answer at least five questions.
Each question carries 4 marks.
All questions can be attended.
Overall Ceiling 20.
Define Circular.
What is the purpose of an agenda ?
Which are the different parts of a formal letter ?

What is meant by Press Release ?

You are the Head of the English Department. Draft a notice regarding the Literary Fest to be
conducted next week.

What are the Components of a CV ?
What is the purpose of Mock interview ?
What is the need of newsletters ?
Mention a few do’s and don’ts in group discussion.
(5 x 4 = 20 marks)
Section C

Answer at least four questions.

Each question carries 8 marks.

All questions can be attended.
Overall Ceiling 32.

Write a note on the different strategies of reading.
What is the purpose of a Notice ?

You are the Principal of your college. The college has decided to buy some microscopes. Draft a

letter to two or three companies inviting quotation for the same.
What are the components of a press release ?

You are an interviewer of a leading national daily. Prepare an interview you had with the director

of a popular movie.

Draft an advertisement to be published in a leading national daily inviting application to the post
of High School teachers in English at an International School.



26.

217.

28.

29.

30.

3 D 93712

Prepare an agenda for the annual Board Members’ Meeting of a reputed IT firm to be held at
Marriot Hotel.

Write a conversation between a teacher and a student regarding the intercollegiate arts fest that
is going to be held at their college.
(4 x 8 = 32 marks)

Section D

Answer any one question.

Each question carries 18 marks.

Prepare a CV and a covering letter to apply for the post of Human Resource Manager in a multi-

national company.

You are a volunteer of the NSS unit it vour college. Prepare a report on the recently conducted

blood donation camp organized by your unit.

“Should capital punishment be banned in India?” Present your views in favour of or against the

topic.

(1 x 18 = 18 marks)
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FIRST SEMESTER B.Com.B.B.A. DEGREE EXAMINATION, NOVEMBER 2020
(CUCBCSS)
B.B.A.

BBA 1C 01—-MANAGERIAL ECONOMICS

Time : Three Hours Maximum ° 80 Marks
Part A (Objective Questions)

Answer all questions.

Each question carries 1 mark.

Choose the correct answer :

1. Decision-making and —————— are the two important functions of executives of business firms.
a) Forward planning. b) Directing.
¢) Supervising. d) Administration

[\

Managerial economics is also called :

a) Microeconomics. b) Theory of the firm.
¢) Economics of the firm. d) Al of the above.

3. —————is known as the “first law in market”.
a) Law of supply. b) Law of consumption.
¢) Law of demand. d) Law of production.

4. Which is not a property of Isoquants ?
a) Downward sloping. b) Convex.
¢) Negative slope. d) Positive slope.
5. Which is/are the salient features of monopolistic competition ?
a)  Large number of sellers.
b) Normal profit.
¢) Free entry and exit of firms in industry.

d) All of these.

Turn over
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2
Fill in the blanks :

6. In economics, desire backed by purchasing power is known as

7. Law of demand shows the functional relationship between ———— and quantity demanded.

8. During boom the Central Bank —— __ the interest rates.

9. Policy of the government regarding taxation and public expenditure is ——————— policy.
10. goods are exception to law of demand.

(10 x 1'= 10 marks)
Part B (Short Answer Questions)
Answer any eight out of the ten questions in two or three sentences.
Each question carries 2 marks.
11. What is demand analysis ?
12. What are economies of scale ?
13. What is demand ?
14. What is trade cycle ?
15. What is elasticity of demand ?
16. What is market demand ?
17. What do you mean by forward planning ?
18. What do you mean by managerial economics ?
19. What is monopoly ?
20. What is market ?
(8 x 2 = 16 marks)
Part C (Short Essay Questions)
Answer any six out of the eight questions in about 200 words.
Each question carries 4 marks.

21. ‘What are the uses of managerial economics ?
22. What are the importances of elasticity of demand ?
23. What are the steps in demand estimation ?
24. Explain the qualities of good demand forecasting.
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What are the differences between economics and managerial economics ?
What are the characteristics of a business cycle ?
What are the Important areas of decision-making ?
What are the different types of income elasticity ?
(6 x 4 = 24 marks)
Part D (Essay Questions)

Answer any two out of the three questions in about 800 words.
Each question carries 15 marks.

What is perfect competition ? Explain the features of perfect competition.
Explain the economies and diseconomies of scale.

What do you mean by trade cycles ? Explain the different phases of trade cycles.
(2 x 15 = 30 marks)
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION
NOVEMBER 2020

(CUCBCSS)
B.B.A.

BBA 1B 01—MANAGEMENT CONCEPTS AND BUSINESS ETHICS

Time : Three Hours Maximum : 80 Marks

Part A (Objective Questions)

Answer all ten questions.
Each question carries 1 mark.
Choose the correct answer.

1. ———— has defined the basic problem of managing as the art of “knowing exactly what you want
men to do and then see that they do it in the best and cheapest way”.

(a) Henry Fayol. (b) F.W.Taylor.
(¢) Mary Parker Follett. (d)" None of these.
2. —————is the process of identifying and grouping of work to be performed.
(a) Organizing. (b) Staffing.
(c) Division of labour. (d) Planning.
3. ———is the activity of influencing people to strive willingly for a group of objectives.
(a) Motivation. (b) Leadership.
(¢) Communication. (d) None of these.
4. —— Leadership gives complete freedom to subordinates.
(a) Authoritarian. (b) Participative.
(c) Free rein. (d) None of these.
5, —  isa process that allows people to make decisions based on their deeper values which will

be economically, socially and environmentally sound.
(a) Holistic approach. (b) Ethics management.

(¢) Code of conduct. (d) None of these. Turn over



Fill in the blanks :
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11.-
12.
13.
14.
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21.

22.

organization.

developed the concept of Management by Objectives.
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— developed the “Need Hierarchy Theory” to explain human behaviour within an

Concentration of authority of decision-making at top levels of management is known as ————

A —— is a buzz word to employees to observe ethical norms and forms the basis for rules of

conduct.

Part B (Short Answer Questions)

— represent an individual’s highest priorities and deeply held driving forces.

(10 x 1 = 10 marks)

Answer any eight out of the ten questions in two or three sentences.

Each question carries 2 marks.
Define Organising.
Define Ethics.
Define co-ordination.
Define Planning.
Define Leadership.
What is selection ?
What do you understand by line organisation ?
What is span of control ?
Define Staffing.

Define Values.

Part C (Short Essay Questions)

Answer any six out of the eight questions in about 200 words.
Each question carries 4 marks.

Explain the role of organisation culture in ethics.

What are the features of planning ?

(8 x 2 = 16 marks)
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What are the styles of leadership ?

What are the important features of business ethics ?

What are the steps in organising ?

What are the techniques of direction ?
Explain the features of co-ordination.
Describe the steps in controlling.
(6-x 4 = 24 marks)

Part D (Essay Questions)

Answer any two out of the three questions in about 800 words.

Each question carries 15 marks.

Explain the planning process.

30. Describe the nature and importance of leadership.

31.

What do you understand by management? Explain the nature of management.

(2 x 15 = 30 marks)
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION
NOVEMBER 2020

(CUCBCSS)
B.Com.

BCM 1C 01--MANAGERIAL. ECONOMICS
(2017 Admissions)
(Multiple Choice Questions for SDE Candidates)

Time : 15 Minutes Total No. of Questions : 20 Maximum : 20 Marks

INSTRUCTIONS TO THE CANDIDATE

1. This Question Paper carries Multiple Choice Questions from 1 to 20.

2. The candidate should check that the question paper supplied to him/her contains all the
20 questions in serial order.
3. Each question is provided with choices (A), (B), (C) and (D) having one correct answer.

Choose the correet answer and enter it in the main answer-book.

4. The MCQ question paper will be supplied after the completion of the descriptive

examination.
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BCM 1C 01—MANAGERIAL ECONOMICS
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1. An indifference curve shows combinations of two goods that .
(A) A consumer could buy with their given income.
(B) Could provide the consumer with similar levels of satisfaction.
(C) Would provide the consumer with the same level of satisfaction.
(D) Could be available to the consumer in a given time period.

2. Which of the following statements is NOT TRUE of indifference curves ?
(A) They could intersect.
(B) They are convex to origin.
(C) They are downward sloping.
(D) They exhibit higher levels of utility as you move from the origin.

3. The typical indifference curve

(A) Shows that as a consumer has more of a good he/she is less willing to exchaage 1t for one
unit of another good.

(B) Shows all combinations of goods that give a consumer in same level of utility
(C) Shifts out if income increases.
(D) Both (B) and (C).
4. Which of the following is the measure to control inflation ?
(A) Granting credit on liberal terms. (B) Raising bank rate.
(C) Demonetization. (D) None of these.
5. Employment of people who take jobs below their capacity is known as :
(A) Underemployment. (B) Disguised unemployment,.
(C) " Cyclical unemployment. (D) None of these.
6. Unemployment caused byva decline in demand for production in a particular industry is :
(A) Seasonal unemployment. (B) Frictional unemployment.

(C) Structural unemployment. (D) None of these.
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Law of equi-marginal utility is :
(A) Cardinal utility theory. (B) Ordinal utility theory.
(C) None of these.
The concept of consumer surplus was developed by :
(A) Marshal. (B) H.H. Ghosen.
(C) Bhentham. (D) None of these.
Which of the following is correct ?
(A) Indifference curve has a negative slope.
(B) Indifference curve is a convex to the point of origin.
(C) Two indifference curves may intersect each other.
The study of entire economic system is called :
(A) Macro economics. (B) Micro economics.
(C) Economics. (D) None of these.
The study of international trade and national income is part of :
(A) Global economics. (B) Macro economics.
(C) Positive economics. (D) Micro economics.

The income elasticity of demand is negative for a :

(A) Positive good. (B) Normal good.

(C) Elastic good. (D) Inferior good.
What effect is working when the price ot a good falls and consumers tend to buy it instead of other
goods ?

(A) Income effect. (B) Substitution effect.

(C).  Price effect. (D) None of these.

Two goods that are used jointly to provide satisfaction are called :
(A) Inferior goods. (B) Normal goods.

(C) Complementary goods. (D) Substitute goods.

Turn over
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A rise in the relative price of bus transport will lead to :

(A) Fall in the demand for taxi service.
(B) Fall in the demand for new cars.

(C) Expansion of supply of new cars.

(D) Expansion of new bus routes available for customers.

Which of the following is not a method of demand forecasting ?

(A) Trend projection method. (B)

(C) Sales experience approach. (D)
Which of the following is a short run law ?

(A) Law of diminishing returns. (B)

(C) Law increasing returns to scale. (D)
Which cost are recorded in books of accounts ?

(A) Opportunity cost. (B)

(C) Social cost. (D)
Variable cost per unit :

(A) Remains fixed. (B)

(C) Varies with sales. (D)

Substitute approach.

Evolutionary approach.

Law of constant returns to scale.

None of these.

Implicit cost.

Explicit cost.

Varies with the volume of production.

None of these.

Product differentiation is an important feature of :

(A) Perfect competition. (B)

(C) Monopoly. (D)

Monopolistic competition.

None of these.
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Part 1

Answer all question.
Each question carries 1 mark.

1. The author of “The Wealth of Nations” is :

(a) Marshall. (b) Ricardo

(c) Robbins. (d) Adam Smith.
2. The income elasticity of demand is negative for a :

(a) Positive good. (b) Normal good.

(c) Elastic good. (d) Inferior good.
3. Variable cost per unit :

(a) Remains constant.

(b) Varies with volume of production.

(c) Varies with sales.

(d) None of the above.

4. Demand for goods increases when income increases is called ——— goods.
(a) Positive good. (b) Normal good.
(c) Elastic good. (d) Inferior good.

5. The concept of consumer surplus was developed by :
(a) Marshall. (b) H.H. Ghosen.
(c) Bentham. (d) Adam Smith.

Turn over
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method uses the past data for demand forecasting.
(a) Delphi. (b) Statistical.
(c) Barometric. (d) Collective opinion.
Which of the following is a condition of monopoly ?
(a) Two or more sellers. (b) Only one buyer.
(c) Barriers to entry. (d) None of these.
Price determination is possible in :
(a) Monopolistic competition. (b) Monopoly.
(c) Monopolistic competition. (d) None of these.
The unemployment caused by a decline in demand for production in a particular industry is :
(a) Seasonal unemployment. (b) Frictional unemployment.
(c) Structural unemployment. (d) None of these.
Which of the following is a measure to control inflation ?
(a) Granting of credit on liberal terms.
(b) Raising bank rate.
(¢) Demonetisation.
(d) None of these.
(10 x 1 = 10 marks)

Part 11

Answer any eight questions.

Each question carries 2 marks.
Define Economics.
What is opportunity cost ?
What is substitution effect ?
What is derived demand ?
What is Veblen effect ?

What is an Isoquant ?
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18.
19.
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22.
23.
24.
25.
26.
217.
28.

29.
30.
31.

What is marginal product ?
What is barometric technique of demand forecasting ?
What are implicit costs ?

What is depression ?

D 93705

(8 x 2 = 16 marks)

Part II1

Answer any six questions.

Each question carries 4 marks.
State the difference between programmed and non-programmed decisions.
Explain Law of Demand. What are its assumptions.
Explain the Law of returns to scale.
Differentiate monopoly from perfect competition.
Define Trade cycle. What are its features ?
Discuss the practical importance of the concept of elasticity of demand.
Discuss different types of poverty.

Explain the various internal diseconomies of scale.

(6 x 4 = 24 marks)

Part IV

Answer any two questions.

Each question carries 15 marks.
What do you mean by demand forecasting ? Explain the determinants of demand.
What is elasticity of demand ? State the factors determining elasticity.

Explain the various cost concepts that are useful for decision-making.

(2 x 15 = 30 marks)
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is known as the 'father of economics’.

(A) A.C. Pigou. (B) Lionel Robbins.

(C) Adam Smith. (D) Alfred Marshall.
Microeconomics studies the economic actions and behavior of :

(A) Individual units. (B) Economic aggregates.

(C) Total employment. (D) General price level.
Economics was classified into micro and macro by :

(A) Ragnar Frisch. (B) Adam Smith.

(C) J. M. Keynes. (D) A.C. Pigou.
“A rupee tomorrow is worth less than a rupee today” relates to :

(A) Opportunity cost principle. (B)  Discounting principle.

(C) Equi-marginal principle. (D) None of these.

Allocation of available resources among alternatives is based on the principle :
(A) Opportunity cost principle. (B) Discounting principle.
(C) Equi-marginal principle. (D) None of these.
means attempt between demand and its various determinants expressed mathematically.
(A) Demand extension. (B) Demand contraction.
(C) Demand analysis. (D) Demand function.
In the above function, the letter Y stands for :
(A) Yield of production. (B) Income of consumers.

(C) Utility. (D) Supply.



8.

10.

11.

12.

13.

14.

3 D 93704-A
Basic assumptions of law of demand include :
(A)  Prices of other goods should change.
(B) There should be substitute for the commodity.
(C) The commodity should not confer any distinction.

(D) The demand for the commodity should not be continuous.
If the commodities are complimentary, cross elasticity will be :

(A) Negative (B) Positive.

(C) Zero. (D) Any of the above.
Outlay method of measurement of elasticity is also called as :

(A) Percentage method. (B) Expenditure method.

(C) Point method. (D) Geometric method.

is the process of finding current values of demand for various values of prices and other

determining variables.

(A) Demand Estimation. (B) Demand analysis.

(C) Demand function. (D) Demand forecasting.
Average cost pricing is also called as :

(A) Cost plus pricing. (B) Marginal cost pricing.

(C) Margin pricing. (D) Both (A) and (C).
Cinema Theater, telephone bills etc.. are following :

(A) Full cost pricing. (B) Marginal cost pricing.

(C) Differential pricing. (D) Mark up pricing.
The pricing of cup of tea or coffee, is an example of :

(A) Mark up pricing. (B) Marginal cost pricing.

(C) Conventional pricing. (D) Cost plus pricing.

Turn over
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15. ——— provide guidelines to carry out
(A) Pricing strategies, pricing policies. (B) Pricing policies, pricing strategies.
(C) Pricing rules, pricing policies. (D) Pricing rules, pricing strategies.
16. Which one of the following is not a reason for adopting skimming price strategy ?

(A) When the demand of new product is relatively inclastic ?

(B) When there is no close substitutes ?

(C) Elasticity of demand is not known.

(D) Product has high price elasticity in the initial stage.

17. Which of the following is/are the reason for adopting penectration price strategy ?

(A) Economies of large scale production available to firm,
(B) Potential market for the product is large.
(C) Cost of Production is low.
(D) All the above.
18. The condition for the long run equilibrium of a perfectly competitive firm :
(A) Price=MC = AC. (B) Price=TC.
(C) MC=AVC. (D) MC=MR.
19. The opportunity cost of a given activity is :
(A) The value of next best activity.  (B) The value of material used.

(C) The cost of input used. (D) None of these.

20. In a perfect market both buyers and sellers are :

(A) * Price maker. (B) Price giver.

(C) Pricetaker. (D) All the above.
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Part A

Answer all questions.

Each question carries 1 mark.
1. Demand is determined by :
a) Price of the product. b) Relative prices of other goods.
¢) Tastes and habits. d)  All of the above.
2. Other things being equal, an increase in supply can be caused by :
a) A rise in the income of the consumer.
b) An improvement in the techniques of production.
¢) Arise in the price of the commodity.
d) An increase in the income of the seller.
3. The Law of Diminishing Returns depends on the assumption that :
a) Landis the factor kept constant.
b) The state of technology is unchanged.
¢) ~Total output is constant.
d) Average output declines faster than marginal output.
4. The cost recorded in the books of accounts are considered as :
a) Total cost. b) Marginal cost.

c¢) Average cost. d) Explicit cost.

oooooooooooooooooooo

oooooooooooooooooooo

: 80 Marks
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Out of the four, which is not a micro variable ?

a) Demand. b) Supply.
c) Cost d) Inflation.
Oligopoly is a type of market. A exists in the industry.
a) Perfect, few firms. b) Imperfect, few firms.
¢) Perfect, many firms. d) Imperfect, many firms.

The primary inducement for new firms to enter an industry is
a) Increased technology. b) Availability of labor.

c) Low capital cost. d) Presence of economic profits.

The difference between marginal benefits and marginal costs are the
a) Profits. b) Marginal net benefits.
¢) Opportunity cost. d) Accounting cost.

Who is considered as the father of Business Economies ?

a) Alfred Marshall. b) Joel Dean.
¢) Adam Smith. d) Robbins.

All inputs become variable in the
a) Long run. b) Short run.
¢) (a) and (b). d) None of these.
(10 x 1 = 10 marks)
Part B (Short Answer Questions)

Answer any eight questions.
Each question carries 2 marks.

Limitless wants and limited means—Comment.
Define Managerial Economics.

What are the assumptions of Law of Demand ?
Discuss the concept of Giffen goods.

What is meant by demand function ?
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Write down the differences between demand estimation and demand forecasting.
What is Isoquant curve ?
What is meant by out-of-pocket cost ?
What is a kinked demand curve ?
What is meant by psychological pricing ?
(8 x 2.= 16 marks)
Part C (Short Essays)

Answer any six questions.

Each question carries 4 marks.
Discuss the determinants of market demand.
What are production function and its assumptions ?
Why is a firm under perfect competition a price-taker and not a price-maker ?
Write a short note on imperfect competition.
Briefly explain reasons behind downward slope of demand curve.

Briefly discuss about various external economies.

"Briefly discuss about various methods of pricing.

What are different survey methods in demand forecasting ?
(6 x 4 = 24 marks)
Part D (Long Essays)

Answer any two questions.
Each question carries 15 marks.

Distinguish between laws of returns to variable proportions and laws of returns to scale. Explain
the causes of increasing returns to scale.

Explain the causes and phases of business cycle.

What are the factors which influence pricing of new products ? Explain different pricing strategies
for new products ? Discuss the suitability of each strategy.

(2 x 15 = 30 marks)
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provides all relevant information needed by the managers at different levels for taking
correct decisions.

(A) MBO. (B) MIS.
(C) DBMS. (D) None.

is a workflow diagram to bring forth a clearer understanding of a process or series of
parallel processes.

(A) Fishbone diagram. (B) Interrelation graph.
(C) Tree diagram. (D) Process mapping.
1s a management philosophy and methodology which was invented by Motorola.
(A) TQM. (B) TPM.
(C) 6-Sigma. (D) None.
needs are need for survival.
(A) Safety. (B) Esteem.
(C) Social. (D) Physiological.
Two Factor Theory is also known as
(A) Theory X and Y. (B) Motivation Hygiene Theory.
(C) Achievement Theory. (D) None of these.
is an example of internal source of recruitment.
(A) Advertisement. (B) Trade unions.
(C) Employment exchange. (D) Promotion.
Which of the following statements best describes Corporate Social Responsibility ?
(A) A corporation’s requirement to make as much profit as possible.

(B) A corporation's obligation to society that goes beyond the requirements of the law and
economics to take into account the social and environmental impact of its decisions.

(C) A corporation's obligation to consider the impact of its decisions on the environment.

(D) The duty of care a corporation has to its employees and customers.
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8. The moral case for CSR, i.e. that it is the right thing to do, is justified by which of the following
arguments ?

(A) That the corporation is a creation of society and should therefore serve its needs.
(B) That the corporation is a legal creation and therefore cannot be a moral agent.
(C) Large corporations do not have the power or resources to address society's problems.

(D) Business decisions will have social and environmental consequences which will be addressed
by governments.

9. ———— leader tries to make the subordinates to feel that they are actually participating in

decision-making even though he had already taken he decision.
(A) Participative. (B) Free rein.
(C) Manipulative autocrat. (D) None of these.
10. MBO stands for ?
(A) Management of Business Objectives.
(B) Management By Objectives.
(C) Managing Business Operations.

(D) None of these.

11. Koontz and O’Donnel are the advocates of ————— approach to management.
(A) System approach. (B) Empirical.
(C) Contingency. (D) Operational.

12. ——— is the art of knowing exactly what you want men to do and then seeing that how they

do it in the best and cheapest way.
(A) General management. (B) Scientific Management.
(C) Administration. (D) None.
13. The author of the famous book “General and Industrial Management” is
(A) Henry Fayol. ( (B) F.W. Taylor.

(C) Henry Gantt. (D) None.

Turn over
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Suggestions for improvements from an employee in the accounting department are an example of

(A) Upward communication. (B) Horizontal communication.
(C) Downward communication. (D) None.
Management can be considered as
(A) Exact science. (B) Inexact science.
(C) Psuedo science. (D) (B)or (C).

According to functional foremanship, the speed boss, Inspector, foreman and gang boss are entrusted

with the ———— aspect of work.
(A) Planning. (B) Organizing.
(C) Doing. (D) None of these.

school of thought has developed on the idea that there is no single best method to find

solutions to Managerial problems.

(A) System approach. (B) Empirical.
(C) Contingency. (D)  Operational.
is a comprehensive plan designed to implement the policy and accomplish the objectives.
(A) Schedules. (B) Budgets.
(C) Project. (D) Programs.
is the process of comparing actual performance with the standard and taking corrective
Action.
(A) Controlling. (B) Management.
(C) Planning. (D) Co-ordination.
The techniques and tools for organizing and co-ordinating a group of individuals working towards

a common goal :
(A) Performance Management. (B) Team Management.

(C) Performance Appraisal. (D) None of these.
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Part A

Answer all questions.

Each question carries 1 mark.

Fill in the blanks :

1. ‘B’in POSDCORSB is

2. is the work assigned to a position or function.

3. Number of people one can supervise directly is called

--------------------

oooooooooooooooooooo

. 80 Marks

4. Management process school of approach to management was developed by

5. In line organisation, authority flows from
Choose the correct answer :
6. The term Gang Boss is used in :
(a) Line organisation. (b) Functional organisation.
(c) Line-and staff organisation. (d) Project organisation.
7. A procedure is a guide to :
(a) - Taking action. (b) Thinking.
(c) Implementing decision. (d) Allthese.
8. Ethics are related to :
(a) Code of conduct. (b) Value system.

(c) Inter personal relations. (d) All of the above.

Turn over
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9. Who is known as the father of scientific management ?

10.

11

12.
13.
14.
15.
16.
17.
18.
19.

20.

21.
22.
23.
24.

(a) Henry Fayol. (b) F.W. Taylor.

(c) Elton Mayo. (d) Rensis Likert.

Centralisation involves :

(a) Delegation of authority. (b) Dispersal of power.
(c) Division of work. (d) Concentration of power.
(10.x 1 = 10 marks)
Part B

Answer any eight questions.
Each question carries 2 marks.

Describe universality of management.
What is written communication ?

Who is a Laissez-Fair;e leader ?

What is predictive control ?

What are the components of planning ?
What is centralisation of authority ?
What do you mean by kaizen ?

What is time study ?

What is whistle blowing ?

Define MBO.
(8 x 2 = 16 marks)
Part C
Answer any six questions.
Each question carries 4 marks.
What do you mean by unity of command ? How it differs from unity of direction ?

Explain MBE.
What are the principles of business ethics ?

“Management is what a manager does.” Explain briefly.
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Explain TQM.
What are the elements of communication ?
Explain project organization.
Explain the techniques of co-ordination.
(6 x 4 = 24 marks)
Part D

Answer any two questions.
Each question carries 15 marks.

What do you mean by corporate social responsibility ? Give the arguments for and against social
responsibility.

Explain the contributions of Henry Fayol to the development of management.
Explain different styles of leadership.

(2 x 15 = 30 marks)
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suggests that each communication going up or coming down must flow through cach
position in the line of authority.

(A) Communication Pattern. (B) Iorizontal communications.
(C) Scalar chain. (D) None of these.
The principle of Unity of command is contrary to Taylors
(A) Rule of thumb. (B) Unity of Direction.
(C) Functional foremanship. (D) Nonec of these.
The Book “Functions of Executive” was written by
(A) P.F.Drucker. (B) Chester Barnard.
(C) Herbert Simon. (D) Nonec.
principle states that an employee should receive orders form one superior only.
(A) Unity of direction. (B) Unity of command.
(C) Espritde corps. (D) None.

is highly suitable for large organizations having large number of managerial personnel

at different levels.
(A) Centralization. (B) Decentralization.
(C) Departmentalization. (D) All of these.
The book “Creative Experience was written by ———”
(A) Henry Fayol. (B) F.W. Taylor.
(C) Mary Parker Follet. (D) None of these.

The introduction of computers in decision-making process contributed a lot in popularizing the

approach in management.

(A) Empirical. (B) Management science.

(C) System. (D) Opecrational.



®

©

10.

11.

12.

13.

14.

15.

According to

(A)
(C)

Henry Fayol.
C.K. Prahlad.

A superior cannot delegate :

(A)
(C)

Authority.

Duty.

Authority flows from :

(A)
(&)

(A)
(©)

Top to Bottom.

Horizontally.

aims at visualizing and identifying deviation before they actually occur.

Predictive control.

Operational Control.

3

(B)
(D)

(B)

()

(B)
(D)

(B)
(D)

F.W.Taylor.

Peter F. Drucker.

Responsibility.

None of these.

Bottom to top.

All of these.

Concurrent control.

All of these.
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Core competency must be the central subject of Corporate strategy.

If duties and authority are shown in the organizational structure of the enterprise, then it is

called :
(A)
C)

(A)
(©)

(A)
(C)

(A)
(®)

Informal delegation

Written delegation.

(B)

(D)

Formal delegation.

None of these.

is the act of increasing the knowledge and skills of an employee for doing a job.

Training.

Placement.

(B)

(D)

Induction.

Orientation.

is a statement of expected results expressed in quantitative terms for a period.

Plan.

Schedule.

(B)
(D)

Budget.

None of these.

leadership is also referred as fatherly leadership.

Autocratic.

Free rein.

(B)
(D)

Participative.

Paternalistic.

Turn over
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4
Need Hierarchy theory was developed by -
(A) Mc Gregor. (B)
(C) Herzberg. (D)

—————is the need for love and affection.
(A) Safety. (B)
(C) Social. (D)

Holism means ——————,

(A) Oneness. (B)
(C) Materiality. (D)

Abraham Maslow.

Mc Clelland.

Esteem.

Physiological.

Divinity.

All of these.

D 93702-A

refers to certain norms governing the conduct of workers involved in a work situation.

(A) Team Work. (B)

(C) Work Group. (D)

Work Ethos.

Work Management.

——————is the guiding principle for decision-making in-an economics based view of management.

(A) Profit maximization (B)

(C) Value maximization. (D)

Wealth Maximisation.

None.
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION, NOVEMBER 2020
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B.Com.

BCM 1B 01—MANAGEMENT CONCEPTS AND BUSINESS ETHICS
(2014 Admissions)
Time : Three Hours Maximum : 80 Marks
Part A

Answer all questions.

Each question carries 1 mark.
A) Choose the correct answer :

1 The authority of a manager comes fi-:m :

(a) Knowledge. (b) Character.
(c) Job. (d) -Skill.
2 In ——— type of organisation, workers receive instructions from various specialists.
(a) Line. (b) Divisional.
(c) Informal. (d) Functional.

3 The needs relate to the awareness of self impoftance are :
(a) Safety. (b) Ego.
(¢) Social. {d) Physiological.
4 Basis of controlling is :
(a) Efficient use of resources. (b) Organising.
(c) Staffing. (d) Directing.
5" Personality is :
(a) Inherited. (b) Learned.

(¢) Programmed. (d) Formed.

Turn over



B) Fill in the blanks :

6
7
8
9

10

11
12
13
14
15
16
17
18
19

20

21
22
23

Valence x ————— = Motivation.

Plan prepared beyond one year is called

The motivation which is based on fear or punishment is known as -

Formal groups are defined by -

Rumour is an undesirable feature of

Part B (Short Answer Questions)

Answer any eight questions.
Each question carries 2 marks.

Define work culture.

What is meant by accountability ?

What do you mean by gangplank ?
Differentiate between MBE and MBO.

Who is a leader manger ?

What is negative reinforcement ?

What do you mean by ethical management ?
What is supervision ?

What is core competency ?

What is programmed decision ?

Part C (Short Essays)

Answer any six questions.
Each question carries 4 marks.

Explain about the functions of leadership.
Describe the principles of planning.

State the factors detrimental to work ethos in an organisation.

D 93702

(10-x 1 =10 marks)

(8 x 2 = 16 marks)



24

25

26

27

28

29
30

31

3
Mention the expectancy theory of motivation.
Give an overall view of tools of performance management system.
Explain the importance of control.
Elaborate the steps in staffing process.

Explain what are the obstacles in planning.

D 93702

(6 x 4 =24 marks)

Part D (Long Essays)

Answer any two questions.

Each question carries 15 marks.
Discuss the principles of sound organisation in detail.
Describe the theories of motivation.

Explain the process of holistic approach in decision-making.

(2 x 15 = 30 marks)
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Tamil
TML 1A 07—MODERN LANGUAGE —]

(2017 Admissions)

Maximum : 80 Marks

Wemmeumid eNesinasehs @ @il cursduimeasatlco el sms

1

2

3

© o ~N O

10

yeflwirsdles semauiled eumw dlev sui 4l g @mludl(his.
Sgemwuul B HLbHeus@Hssne = i Vs Glgfluybn stestmeuy wny ?
afluilles 2 wie| wWIHSSHS O flujw

By 6155085WSI ?

NP wnEsHLT erevrenn Smsenguilen s ar L

‘G’ eTeaIDTEL eTEBISET ?

S6TETeTISNF6Tl60 S1qO6EBTSl60 601G @D 2 6TTT6 618 ?

‘Intelectual’ stesrugest Glum@men wing ?

Nemens Sl ub semsltlunmhssgs ?

‘GHHATPL’ LTTTUTHID TerTUmS mdlevgdle QMALLIWTSSea L.

(10 x 1 = 10 marks)

stemeuCuegnib LFH eNenrssEmsE @muUSSwenelled elev Hms :

11
12

13

14

urseur e wewT] eursEnsE oo Cuw 2 6ten Caumiun® wrg ?
&SHIETD eTTDNey cresient ? eNené &S .

AP sGU CUILEBSGD UTSTEON HSHNIBSE 6D MEUT(PSS FoDieusDnsTe

SMTETTTRIGEN 6T 6T(LDG) 5.

shlpeflen seng b selleng e cmisgb Cewud wrg ?
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III1.

15

16

17

18

19

20

21

22

AN S F0—eI MBS &(H5.

@meuene idley Lfelwins@eug 61 ?

SETETTSTEDSHS EHTEID NIDHS HEHSEMW 61(LDGI5.

yeflwior mmeager gy Glzy stenr wINW HOSHEBW 6T(LHGIS.

2 wewrjseflen 2 HeusCammmsems edens: s

S6VNEl6S LIETTL| HEV6SISHEMET 6T(LSI5.

‘wremGaugener srengnb sellens o ewTTSgIDL CFud wrg ?

weneiell GNS eweun(pSg stenen gampny ?

D 93701

(10 x 2 = 20 marks)

stemeuCuenid gHG NevssEHsE @MHUES Haslea el Gms :

23

24

25

26

27

28

29

30

Bevadwriseiley sremeon@n 2 Uy eunenflud @&MSg 61(1p&Is.
sllypeflen semgamw (. Cuossreufl ellens@s.

FH&T6 sellemaseafled LuleTmieunhgeTeT 2 auemio HumisensT alleuflés.
‘@ K6t &S eTesianb Hnisansullen semgUlleTaTened 61(LDS)s.
&. un. grellest Amisengseafen saflggememweaw aHSMTSS.
(PHESTER6 LT BEveTIdHemsTs GBI (5.

ausTEmeul arenaTel UnhssTads Sblperuet sanidnry ?

Wemaumbd LGSeow sdlfler Quomfl CLwisseab.

Water released from the Cheruthoni dam of the Idukki Hydroelectric project rushed down

the Periyar river valley to Aluva town, 27 km. from Kochi. Extremely heavy rainfall in

the upper catchment area of the valley had forced the Kerala State Electricity Board to

open. One-by-one, the five shutters of the dam earlier that day. This was unprecedented

when the rain eased, some 370 lives had been lost and nearly 7,25,000 people displaced

in Kerala.

(5 x 6 = 30 marks)
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IV. steweuCuignin e _@isaes sl Qeor aigeled el SHs.

31 ‘ssey fpisemsler Anismes snmiset @ bAUDDIETETETET ? 66TéEE.

32 gmane fAnisemsseflen ur@Run@meT GHNSSH SHL-(HOT uEnTs.

33 soimemisfs  sdlemgast sdlepefiar Jpsmsmsmayd Gougmersemerub

Qeusfluu@ssifemen steorumy SMHSENG S TMLIS.

34 Wereumw uEHow grdeosde QunHOuwiss.
sOPLwrfluisn Qgrsenwa@n AplysEn QUmmBEEGD Gl SaTemnsESL0
ENETM| LUSTeUETEUMLE FRs Blevsd wiriset elemm@demer. LGCeoum srevss L mserfleo
ueCBaum UGHWIO UTPHES LEVEUTHET SRS enUBIGMETLL ST H6wT(Hb,
Cal Db 2 6m1ihg HaDeSmaTUL LTSS 6ulgSH 6Ty, 36m6ubluwie0eond
Qar@saslul (@ url® Ogrma el LEEs50uDmIeTTeT. HS5OHTENS HIT6YI 6T
‘@MIKCIGTems LiestTenL_ I waseflen geflwesfls supsmu LesTUT _enL_W|b HI&fassengu b
d@SsmrsHng. Cgroasruliusdle sremmiuu@b HsLUCLMNTmHET WLFYS&emeT
GDIBOGTms LTL_sosetle santBsaflgseon.

(2 x 10 = 20 marks)
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION
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(CUCBCSS)
Malayalam
MAL 1A 01 (1)>-MALAYALA SAHITHYA PADANAM 1
(2017 Admissions)

Time : Three Hours Maximum : 80 Marks

I.  ag)g)o 210B)EIBHBEN HOMOODLIIE:.

1

(<2 ) B N VC I\

oo

10

‘enaLe 2 NlAl ag)m & @il 02 Noj®od ?

OTBO(IGBUED (Flel HOM@MMEIRIOS GaleXdD ?

QAUUBBHBM SMOB®OQS BAIENS ERIWY® ag)s ?

Finance—0e1@08a 130 ag)9io):.

W00} BSEM ISR EBIOL BAIZOIOS GalODD) ?

‘nogdloflors @D’ ag)MAlWeSHIM @O af®) ?

‘I have seen them riding seaward on the waves—ag)(m QUGIBDB EOOES ?
Moadl@yo ®AOE60) 6an6nlOHEMAT A IOETNE ABO ?

‘Maea]g eIBHOWlal@’ agam mmem allswatlafloj®@oa ?

603 80ad 06300} Nla |G ag) LI (ol (@6
(10 ¥ % = 5 marks)

II. &emo eseMEd VBT HEDOODLIEIE:.

11

12
13
14
15

atel LOmM@ANUBGEMMENBEL0 DIEIEYFIERHHIUD 3)BLISEOIRI AUOWMBNHIDHE) EBOMIM OB,

6)>061E ?

RO anyod@OO0 AOBOHEDSIEDENOM OCFUYODT ?
‘woglflgs”’ agm QUoBSIaT MVOWIBO® (VL2 IEIAMOEBWD ag)OTHIODE ?
BMOMBIY, LIhH)BIaH EDCUBHWEODT) QUYBMDIBE) b,

MVN®BOAeS Hoeflalmeas mjouflailel Qietiletd Gwangoo ?
(5 x 2 = 10 marks)
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MIRMUE AUOBS @ B0 loe® @RI 6.2 I10BITRREBE OBDOORPIE)E:.

16
17

18
19

20

21

22

(0o al@l@daxWies aflalwd@le:e8a]q! ANEmOHw:.

‘@O OB} (HlEBeg BRABNIe CAINBIGIOWM ? MITBOS CAUEMBI®OM dIelo BTlenLlo
86m20Qlg) —@DMS QUGB ? VA3dE0 aR® ?

ag)93@ilen MlalaumBiad @M @oWwjaHIMIeEMAT ag)o.Sl. alOQIMEDAMOE6NE ?
IWIOMR (1027l 21BN @OEDEOT] 2] OB B:ETYL-EIT AT EHMO®OTEL)O0 ?

aflaud@mmoe @6 Goan®lee MOHM &)EOWMEIINE AUOWMHHIGOIS MVOUIBO MVIWIDO
oM@ AlCLdEmBE:0D (BRLIEHHENS HB:00)6TBUD ag)e L)oo ?

80 KB WG (aIBIWOWF] MIN@HIROC] aIOWIMOGAT) ?

QUoeMIERy LOOMY® ANV EBWD OBLERM 621QREMIIUD UM (A IREIBWD ag)DOBER]00 ?
(5 x 5 =25 marks)

@03 AUOHENBD ON@OO® MBS BB HEOBDOODLIEE:.

23
24

andmim@sion amwomi@emdeldl agio.afl. afleas £000160R TGleHeMETBID Mo(aGH)H.

BBUIDO (MVERUIREBMIONSIg{o BMIaHty MoMIBOOETEM Alalw eIBEEIcRH6IRR TVERIOOA0
MAQYaSlHNM B)BIWIENY OB-QIBO BEBBD— MM B6)1>.

QMORLRD af)(MOORINT ? @(M®BLERNWQOS TVIWI®E:glo alBlaldle:gio ANBEROBEIE:.

®d2200/03 UOIQM BOAIODOB:e8a|F] Alariemmocoemd mmy@lalens Midleemensag
OO0LJ00—IUBIHH.

mas:0elle: momadle: lafeavles @g@aseg alladumoctna:no@l allvdd:eimo ealgRIM
GMONOULIDEM. ‘@06MIM@E] H:0% 21— 2ifl)E1E}H:.

‘ag)MIOMRI®IMY )M GLIOIMETIE MVICIBy02IMeERa|dl ag)o.Sl. ag)®BEaj0m HlBMmEBR
MO(NaOlHH.
(4 x 10 = 40 marks)
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION
NOVEMBER 2020

(CUCBCSS)
Malayalam
MAL 1A 01 (1)—MALAYALA SAHITHYA PADANAM I
(2014 Admissions)

Time : Three Hours Maximum : 80 Marks

I.

II1.

B0 QUODHEI HEMOODPI®E:. V2 m0dLs) Afl@o.

1

2
3
4
5

o))

9
10

Qg)O AG)BI0 BHLOBEO BIBMBIN2IOGD 61T BPOLSLAQIUL0 AN AlOBTD ag)LABBIB00MID ?
‘@eENIRD BOM ag) @VAVAG MUEMMI "eGit) iL 1Mo 6 PTIQ®OO ?

0g)0.S1.Q)6S (INIRMOW BOGYBLO agyicy

‘@ BHMDBYM VIO’ YN @SS IHACTEILIOM 2

80} onufleRl al36mBW 16RO @oau®final el ik agyvimimm allcud@mm doles alowim
GaleOa® ?

‘alelod aloer10el’ler BomEdaY aG@oen ?

‘ag)0TMO6M EDETBMEE® B300RBBE) QISIE @ Mo MIOD(MYo OBOSYHE —E06MIMDEY
8092180 ag)om dmMICUENG Q@ B:LO0aIO(@@OEN EETREM alOWM@) ?

oR®) alBAHOHEM HOIYH: ©aOWBOEIRLRBR®OW] GLIELBMD alO@IM@ ?
deeemelon 6w aloduemelenel] quald 6.1 mwoea® ?

VB QMO @) BOaHQIEL! ag)LIBMIB00MOET) ?

(10 X % = 5 marks)

BB(MND EENEI CLIBYBBI HEODHOODPYMI:. BOGONMIMo 2 MOdHs) All®o.

11
12
13
14

15

@Emaflad@mmo ag)mmy ©1@:06nE AllaledlenmMmems ?
0@ AfldEHM HHDOERNTY IOIMD BHOVEMODNT ?
adlGRIONeS MIE0UOEDa]H] GAIRD ennellgy OE:AERMd alOSTmOMT ?

‘@EmO8 MI0ZLloS] AUSBEWIW B0 GO ®HAMY aflemMalm @oad qosHB-a06m.
maflaomma allaiedlenmemas ?

alj0o0 MISBEIM (Ioallm mwom ag®y Mleiefansm erclweqsloima ?

(56 X 2 =10 marks)
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MIQMU®Y AUOSS@ HANIO® a@e®®slello @R 62I0B)MTM HEDMOODPI®Y. BOEIMIMo
5 2od#6) Qfl®o.

16
17

18

19

20
21

22

@OWINH®OQENC 2] 0g)o.Sl.QHNRR H:092 10 |0esSamO@IIM; ?

‘royworileel Sl ddHlle:eaqldl @leemm @rClenos) EyslTmeM@OET VB BOURBES 0
@EIBOM (RO @), (ITROAUM ag)mO@ABIOM] ? HAIOMID QLYBIODOHE)Hs.

‘aUgjo@® AlmEBROQImMM) BSE80® amEmBBEHMY —ag)id.ag). MId AllaIdleaym.-Toshlo
ag)rmoerm ?
®60Q ag)go ca@alenmalo BIFTMIEAIOBM®OQ] MM E@IMID Honemeacm ? allva

QOB B>

<

BOOMIQPBOBIOS B®IZ0" ag)amOem ? ANCUGIHE)0:.

Q06mlegy LoOM@alEMO® Oflan@eBEE DeIOsETI ERAIMEllEnIM aRrlie NIAIIMIISR®
@OHEVENBDAVIOEMATY AIOWIMN® 2G)ATEB6MBI6M) ?

ANUBEDEH6M (122108500 lo MYLI0 HEMBIBYM (A I@ETBUD ag)emEJO0 ?

(5 X 5 =25 marks)

@30M) allOEB@ HAUNOO® agemesleljo MIBY E2loBYMTIM HOMOODYI®IL. BO6IMIMmo
10 m0d06) afl®o

23

24
25
26
27
28

avad:0efle: Zlalmonimowes ag)eamngo 2 @EBRIET ‘B:06MmIM®E| 092 17’ ag)om emoIelldd
@l®dlaflofIgeae) ? AlltodelMo 6.21Q)id:.

0g)0-S1.QIOS HLOOGRIOHETH TV JBIMA3MD B:06MINM (IBBYBOHWD ag)eTmLJo0 ? QNG B6)1d:.
‘a0MIMEBIOME aMEOMI@o’ g GEIEIMOTTIOL @DUWETBW  (o(aCe Q| I®H:.
UoemIZyRowe®® ACUAGDM®TEE MORLYBB:EI0 aldlal@d:aio Allaidleniss.

‘BQIEO0 HODBYEUD NN BBLOMIBNAU0 QNGB

Aflaudemmo @RAAI0OIBIQ MOCMIBOBEs (A l(@I@@OGEMO ? (Hlogalo))d:.
(4 X 10 = 40 marks)
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Maximum : 80 Marks

Time : Three Hours
I. axgforss 3R foilae : (west w2 13 10 a@ & weft woaft & Ieer Jiforared 2 1) -
(®) DIcd! A A SR oI forfam -
1 'GAA' SUSIRIST TATBR DIt § 2
(Vi faso) semase, sfier Amgst, Afdr AgER)
2 ‘Hfther’ BT TWAPR Bl § ?
(¥, SPIGIeTES Mg, Aeiadl, AR [i6)
3 Idlogeny oI B Ucel! BT AH B ?
(wfigar qdll, Fponferstt qdll, et adl, fwen &)
4 ‘2gaiat & 3/ &' o & b e B wen & 2
(FHzor, Rentes, Rarats, am gea)
"l it BT PiTER B § 2
(3, BRermY s, fawyy e, gfsfiar)
() -1 g # Ieer ferfde
6 0HGUG B 3RACH AR TR 2

[y

7 ‘# RPN W § T ITWABR Bl § 2
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8

9

10

‘e AR’ B TWeBR Bt 2

‘s’ fbadt e & 2

"Jnegfor Jo1 B ARy 5 Ba € 2

I1. fdbogl g gedll & S GI-flot ot J e -

11

12

13

14

15

16

17

18

19

20

21

22

TR P ATEIE D TR R 1 AE o' | sften roft it e et & 9
A 5w A I W1 § B SIS o FE Sowt 1 Bregy il A 2
216 of fawr 3 Far IR A Al 3aR R 2

fba Yre2r 1 Gaanan @1 raet wea § 3t &=t 2

it of fbeRY et Y 2 T I aA g 2

g & gfte # sfiucht & Ser-ar o b @ 2

‘F 2 A 9Ict W § BT Pl BY A IR 2

onif fordsetet &t FemeT fdsaret &1 2 FA@I I T & 2

PR &t a1 vd fddeyuf ardt A @ iR B 2

g o197 6 feg ar @enalt & o ferldig |

g Bt fbed] TR gl & o fof |

sftacht &t aeeft 3 et & ST BT TN BRVI B 2

1. foed] ar wealt & Seaik (150 o &) R -

23

24

25

' SATCHDBT 3ier P MR W 3t Aigett S sl B IRE QI |
# 517 A et 81 § 1 St B o A ugal ?
Fa1 I G’ T B BT afeT i |

D 93696

(10 x 1 = 10 marks)

(10 x 2 =20 marks)
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26 ‘e U & anem W aeie Bt a1 didt &t AT @ afta i |

27  AYA ATEAT BT :

TS SRR W G RSy HERIS | 3 AP A AR DS I 18] AT | B F DA 3 g J
i |

28 ‘M’ A 3ifeurs fAar! w yeIer Siferu |

(4 x 5 =20 marks)

IV. foegt g weatt & I il -
29 ‘IRRT foEy T 3MeR W e H Tl Revaat ok wfec weet @ uivea qifer |
30 sfthel & Sftaer & ferferl o= weprer sifemg |

31 ‘Ta1 W S wawlt @ AR formay Sudt fidwanat @1 5@ Hifore |
(2 x 15 = 30 marks)
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION, NOVEMBER 2020

(CUCBCSS)
Hindi
A 07 (02)—COMMUNICATION SKILLS IN HINDI

(2014 Admissions)

Time : Three Hours Maximum : 80 Marks
[. agforss S forRaw « (et e 1 & 10 dd & Jit goetl & Iear drferarf 2 1)
(®) Preod! A Wl I ol et -
1 o gt &t forfd et 2 2
(T3, gaeert, s, 3
2 R Afdener & (6 3re[esE & AR fEea) Waie 2ig B ASTHT il 2

(342, 365, 343, 310)

3 goml AegDIcter WA FHTST Blo-2ft § 2

(fsdt, T, e, domet)
JHEIRY B0 THIH! BT I B 2

(fa Yz, weEream, e & g2l @ R)

5 ‘Hw-3am @ TR B & 2

(3GAB ¥g, TAGAR TAf, fe] wHIeBe, Pog; Al

(7). S gl 3 zeht Srel @t iy

6 TeHeh IR — |

NN

7 Editor &1 deneff ffedt aug —— |
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8 ‘o wHew o Fenef et v —— R
9 Redt P avafdd oy — € & 39U Al ST 8 |
10 ool Beql —— smgar A sga @ |

(10 x 1 = 10 marks)
1. fedl ar westt & Jfem Sear (150 ored) #) flau -

11 B oeg & 3ref 3k wRier i waer siferu |

12 dicraret &t T & ffster st &t e Hifom |

13 TS 37 TseHTST F AT AR § 2

14 ‘e & &t & ofidd & Fefear w AR i |

15 'O9TIcANd’ & PHogdl B A R BT |

16 - & Yo 1 9T G |

(4 x 5 = 20 marks)
III. f&dt v woaT &1 Iek feifam -

17 39S Bl B AT & fo1e T8 fioa! gras! $t aaeasd ¢ | 57 naeadsar & gfdf & for
ISIBACT YBIN, o8 gt B TIaeId P o H TP HAQY IR HIFT |

18 3afdR} B, difere & fRoal f3ueT # v Aeraes el &1 ug JMet 3 | weqd ug & forg v e

T IR ST |
(1 x 10 = 10 marks)
IV. forgemeRmR fofse -
19 fomifia Rsdt orsal & 3wt ¥ forfdg -
(a) 3mIER fasm (b) TN 3T
(c) faems s (d) reigd
(e) faeafagume™

(6 x 1 = 5 marks)
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20 foriferRra aideht oreq! & Red wu il
(a) Administrator. (b) Ministry of Finance.

(c) General Manager. (d) Secretary.

(e) Advisor.
(5 x 1 = 5 marks)

V. ot w smerer @ fisdt & siejarg B

21 Cinemas have a high educative value. It is not possible for the people of our country to
know the customs and manners and the general life of the people of another country,
unless they go there and read about them in books. Moreover, it is only the educated
section of the people, who can have this advantage. But, by means of films produced in
one country, the cinema makes it possible to spreads this knowledge amongest the masses
of another country, whether educated or otherwise. As a means of spreading ideas, the
cinema is highly valuable.

22 Srimathi Sarojini Naidu was born in Hyderabad. Her father was a Professor of Science.
Her Mother was a good and educated woman. Sarojini was intelligent by nature. She had
an aptitude for poetry from childhood. She composed poems in English even in he school-
days. The Government of Hyderabad was pleased with her scholarship. She went to
England for higher studies. She was there for three years. Meanwhile, she visited some
other countries also in Europe. Many Englishmen praised her poems. People called her
‘Nightingale of India.

(1 x 10 = 10 marks)
VI. fdog! q gealt & fga scae fofdm
23 fReql & fasra A o1 ufve T |
24 'UTTIY" Uwidl B BT FET H fRaBR 3AP A2l B T B |
25 ‘de & gt # ufdrea ammfores FwR=mnall &1 g7 B |

(2 x 10 = 20 marks)
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(2017 Admissions)

: Three Hours Maximuin

: 80 Marks

12x%=6 - :Q\JL«:LJ\‘!‘ GEVITEN u}i A

= aulice AalS § LAY Jasi

— thashe Alan O ASY) clalSll S,

oo T b 9T = T 3).5‘.1!\ - —;_A.,:\——“MJ.

Al = s — - el

AR

(5

L — Al - ) = aalad - e — Slahd - At Ly

S e - 8 sl Laa A

m i Ofaliie Gibe JS Gn Juo o

el goly & - sl Gl Qi 4

Bl ot 8 - @Al Jal Jans )

adally gl 8 = bl e DB Glia aaw )
Qa‘)a\)LL:u?ﬁ = abadl e HEC Wl gl Y S
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6x5=30
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FIRST SEMESTER B.Com./B.B.A. DEGREE EXAMINATION, NOVEMBER 2020
(CUCBCSS)
Arabic
ARB 1A 07 (1)—COMMUNICATIVE SKILLS IN ARABIC

(2014 Admissions)
Time : Three Hours Maximum : 80 Marks
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